
 

State of New York Executive Department 

Office Of General Services 

Procurement Services Group 

Corning Tower Building - 38th Floor 

Empire State Plaza 

Albany, New York  12242 

http://www.ogs.state.ny.us 
 

  

CONTRACT AWARD PRICE LIST  
#5 of 6 

 

Title  : 
Group 38614 - Traffic Safety Equipment -  

Highway Roadway Safety Barriers (Crash Cushions, & Truck 

Mounted Attenuators: Systems, Parts & Accessories)  

Classification Code(s): 25, 30, 46 & 92     (Statewide) 

Award Number : 21253  

Contractor :      Transpo Industries, Inc. 

Contract #                :       PC64077 

Toll Free Order # :      (800) 321-7870 

 

Price List #1  

 

Description 

 
Traffic Safety Equipment includes crash cushions and a variety of barricades, which are precautionary barriers which 

passively assist in channeling traffic, while also preventing vehicles from impacting major structures such as bridge 

supports and lighting and utility equipment. Also included are attenuators which serve to protect the rear of large 

slow moving service vehicles and trailers or stationary structures in the event of a collision, while also absorbing and 

dispersing the force of the impact so as to concentrate the accident zone and minimize the effect on additional lanes 

of traffic. Additionally, they are used to assist and protect our road crews in construction and service zones and are 

important tools for ensuring safe travel on roads and highways throughout the State of New York. 

 

 

PR #21253 



Model/Part# Product/Description List Price/Each Net Price/Each

106106BRS5 BRAKEMASTER System, ("350") Complete $9,509.04 $9,318.86

ANCHOR ASSEMBLY
9202010-0000 Anchor Assembly, Embedded $1,645.57 $1,612.66
9202024-0000 Anchor Assembly, Driveable $1,645.57 $1,612.66

DPA ANCHOR ASSEMBLY
9202071-0000 Anchor, DPA, BRS $2,691.68 $2,637.85
9202072-0000 Anchor, DPA, BRS without Cap Installation $2,527.13 $2,476.58
9202981-0000 Cap, Installation, DPA, BRS $152.80 $149.75
9204010-0000 Breakaway Assembly $329.11 $322.53
       NOTE: The following parts are included in the above 

item (#9204010-0000) and/or may be ordered separately

9204021-0000 Nose, BRS $94.03 $92.15
9204031-0000 Breakaway Arm $176.31 $172.78
2699272-0500 Rod, Threaded, 7/8" x 28", G5, G $54.07 $52.99

       NOTE: Required nuts, bolts, and washers included.

9206010-0000 Brake/Tension Support System Assembly $1,445.75 $1,416.84

       NOTE: The following parts are included in the above 
item (#9206010-0000) and/or may be ordered separately.

9206021-0000 Brake Tension Support $1,057.87 $1,036.71
9212021-0000 Panel, Fender, BRS $387.88 $380.13

       NOTE: Required nuts, bolts, and washers included.

9208010-0000 Cable and Brake Assembly $4,125.68 $4,043.17
9210011-0000 Diaphragm Assembly $176.31 $172.78
9212010-0000 Fender Panel/Strap Assembly $340.87 $334.05

       NOTE: The following parts are included in the above
item (#9212010-000) and/or may be ordered separately.

9212021-0000 Panel, Fender, BRS $387.88 $380.13
9216021-0000 Strap, Laminated w/Decal $105.79 $103.67

       NOTE: Required nuts, bolts, and washers included.

9214010-0000 Transition Strap Assembly $952.08 $933.04

       NOTE: The following parts are included in the above 
item (#9214010-0000) and/or may be ordered separately.

9214021-0000 Strap, Transition w/Decal $693.49 $679.62
9218011-0000 Strap, Solid w/Decal $54.07 $52.99
9212021-0000 Panel, Fender, BRS $387.88 $380.13

       NOTE: Required nuts, bolts, and washers included.

2708671-0000 Washer, Bar 3/4 x 8 x 8 $39.93 $39.13
9208101-0000 Spacer, BRS $18.51 $18.14

Model/Part# Product/Description List Price/Each Net Price/Each

Crash Cushion System, Energite III (Must Specify Barrel Size 200 lb., 400lb., 
700lb., 1400 lb. or 2100 lb.) $179.01 $175.43

Parts
2731191-0100 ENERGITE-III, 640 kg (1400lb) Container Only $163.20 $159.94
2731201-0000 ENERGITE-III,  90 kg/180kg (200/400lb) Inner Cone  $16.00 $15.68
2731271-0000 ENERGITE-III, 320 kg (700lb) Inner Cone $16.00 $15.68
2731241-0200 ENERGITE-III, Lid only $21.00 $20.58
2731261-0100 ENERGITE-III, 960 kg Container Only, (2100lb) $163.20 $159.94
HE100SBL Universal Safety Lifter $355.98 $348.86

NOTE: All containers are YELLOW.            All lids are BLACK.

Model/Part# Product/Description List Price/Each Net Price/Each

2000C Crash Cushion System, Fitch Universal Module, 2000C $198.90 $194.92
Parts  
2200 Yellow Wall Half $85.00 $83.30

2100 Set of 2 Wall Halves (10 sets per package) $1,632.80 
($163.28 per set)

$1,600.14 
($160.01 per set)

2510 Zip Strip, Yellow, with Hole $4.08 $4.00
2520 Zip Strip, Yellow, without Hole $4.08 $4.00
2300 Lid $23.50 $23.03
2400 Unicore $23.50 $23.03

2727188-0000 Universal Module Lifting Beam Assembly $345.57 $338.66
2727314-0000 Pin, T-Handle Assembly $24.68 $24.19

NOTE: All wall halves are YELLOW.            All lids are BLACK.

Transpo Industries Price List
BRAKEMASTER 350 SYSTEM

CRASH CUSHION BARRELS - ENERGITE III--INERTIAL BARRIER SYSTEM 

CRASH CUSHION BARRELS - FITCH UNIVERSAL--INERTIAL BARRIER SYSTEM 

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

1 



Transpo Industries Price List
 FASTENERS / HARDWARE FOR ALL SYSTEMS

Model/Part# Product/Description List Price/Each Net Price/Each

2021482-0000 Nose Support, LMC $114.84 $112.54
2698223-0000 Rod threaded, 1/2 x 7, G5, G $7.41 $7.26
2698241-0000 Bolt,Hx,5/8 x 2 1/4,G8,G $5.82 $5.70
2699161-0000 Rod threaded, 1/2 x 10 1/4, G5, G $8.93 $8.75
2699171-0000 Rod threaded, 1/2 x 5 3/4, G5, G $5.76 $5.64
2699181-0000 Rod threaded, 1/2 x 13, G5, G $10.11 $9.91
2699191-0000 Rod threaded, 1/2 x 15 3/4, G5, G $11.75 $11.52
2699391-0000 Rod threaded, 1/2 x 9 G5, G $7.41 $7.26
2699841-0000 Bolt,Hx,5/8 x 1-1/4,G $4.35 $4.26
2700011-0000 Bolt, Hex, 3/4" x 2", G 5 $3.06 $2.99
2700031-0000 Bolt,Hx,1/2 x 6,G2,G $2.94 $2.88
2700041-0000 Bolt, Carriage, 1/2" x 6-1/2", Grade 2, G $3.88 $3.80
2700061-0000 Bolt, Hex, 3/4" x 3", Grade 5, G $5.99 $5.87
2700071-0000 Bolt, Hex, 3/8" x 5", Grade 2, G $0.76 $0.75
2700131-0000 Bolt, Elevator, 3/8" x 1-1/4", Grade 2, G $1.12 $1.09
2700161-0000 Bolt, Elevator, 3/8" x 1-1/2", Grade 2, G $2.59 $2.53
2700401-0000 Bolt, Hex, 5/16" x 2-1/4", Grade 5, G $0.88 $0.86
2700451-0000 Bolt, L-, 3/4" x 4-1/2", Grade 5, G $13.05 $12.79
2700461-0000 Clamp, Wire, Rope, 3/4" $24.21 $23.73
2700511-0000 Bolt, Hex, 3/4" x 3", Grade 2, G $0.76 $0.75
2700541-0000 Bolt, Hex, 1" x 3-1/2", Grade 2, G $9.05 $8.87
2700571-0000 Bolt, Hex, 3/8" x 3-3/4", Grade 5, G $1.88 $1.84
2700621-0000 Bolt, Hex, 3/8" x 6-1/2", Grade 2, G $1.41 $1.38
2700671-0000 Bolt, Hex, 3/8" x 3-1/4", Grade 5, G $1.53 $1.50
2700701-0000 Bolt, Hex, 1/2" x 1-1/2", Grade 5, G $1.00 $0.98
2700731-0500 Rod, Threaded 3/4" x 18", Grade 2 G $5.64 $5.53
2700951-0000 Bolt, Carriage, 3/8" x 2-1/2", G 2, G $0.76 $0.75
2701021-0000 Bolt, Hex, 3/8" x 1-1/2", Grade 2 G $0.53 $0.52
2701041-0000 Bolt, Carriage, 1/2" x 2", G 2, G $1.53 $1.50
2701061-0000 Bolt, Carriage, 5/16" x 3/4", G 2, G $0.88 $0.86
2701221-0000 Bolt, Hex, 3/8" x 1", Grade 2, G $0.88 $0.86
2701271-0000 Anchor Bolt 3/4" x 6-1/4" Grade 5, G $14.58 $14.28
2701281-0000 Anchor Bolt 1/2" x 5-1/4" Grade 5 G $14.58 $14.28
2701301-0000 Bolt, Hex, 3/8"x 2-1/2", Grade 2, G $0.76 $0.75
2701311-0000 Bolt, Hex, 3/8" x 3", G 2, G $0.53 $0.52
2701331-0000 Bolt, Hex, 3/8" x 4-1/2", Grade 2, G $1.41 $1.38
2701361-0000 Bolt, Hex, 1/2" x 3", Grade 2, G $3.11 $3.05
2701381-0000 Bolt, Hex, 3/4"x 2", Grade 2, G $4.94 $4.84
2701391-0000 Bolt, Carriage, 1/2" x 2-1/2", Grade 2, G $0.88 $0.86
2701451-0000 Bolt, LG, 1/4" x 1-1/2", G 2 $1.12 $1.09
2701461-0000 Bolt, L, 3/4" x 6" x 7", Grade 2, G $11.75 $11.52
2701511-0000 Bolt, Hex, 3/8" x 2", Grade 2, G $0.53 $0.52
2701521-0000 Bolt, Hex, 5/16" x 2", Grade 2, G $0.53 $0.52
2715343-0000 Spring Die, 1 1/4 OD x 5/8 x 1 1/2 (replaces part # 2021611) $8.93 $8.75
2701561-0100 Anchor, Flush, 1/2", Plated $7.64 $7.49
2701571-0000 Bolt, Carriage, 3/8" x 1", Grade 2, G $1.88 $1.84
2701581-0100 Bolt, Round 3/8" x 1" Grade 2, Plated Slot $0.76 $0.75
2701621-0000 Bolt, Hex, 3/4" x 2-1/2", Grade 2, G $3.29 $3.23
2701641-0000 Bolt, Hex 3/4" x 1-1/4", Grade 2, G $3.06 $2.99
2701651-0000 Bolt, Hex, 3/4" x 1-1/2" Grade 2, G $3.29 $3.23
2701671-0000 Anchor Bolt 3/4" x 8-1/2" Grade 5, G $16.22 $15.90
2701691-0000 Bolt, Hex 3/4" x 2-1/4", Grade 2, G $3.06 $2.99
2701731-0000 Bolt, Flat, 5/8" x 3" Grade 8, Allen Socket,G $7.05 $6.91
2701731-0300 Bolt, Flat, 5/8" x 3" Grade 5, Steel, Allen Socket $16.69 $16.36
2701741-0000 Clamp, Wire Rope, 3/8", G $9.87 $9.68
2701751-0000 Bolt, U-, 1/2" x 1-3/4" Grade 5, G $9.05 $8.87
2701811-0000 Bolt, Rail, 5/8" x 1-1/4", Grade 5, G $0.41 $0.40
2701841-0000 Bolt, Hex, 1/2" x 1-1/2" $1.12 $1.09
2701871-0000 Bolt, Hex, 1" x 6-1/2", Grade 2, G $18.92 $18.55
2701891-0000 Bolt, Hex, 5/8" x 1-1/4" $1.53 $1.50
2701981-0000 Bolt, Hex, 1" x 5" $5.88 $5.76
2701994-0000 Bolt,Hx,5/8 x 5,G5,G All Thread $7.29 $7.14
2702011-0000 Pin, Cotter, 1/4" x 2", Electroplated $0.59 $0.58
2702031-0000 Pin, Cotter, 1/4" x 2-1/2", Galv. $0.53 $0.52
2704011-0000 Nut, Hex, 1/2", G $0.76 $0.75
2704031-0000 Nut, Hex 3/8", G $0.53 $0.52
2704041-0000 Nut, Washer, Tinnerman, G $0.41 $0.40
2704051-0000 Nut, Eye, 1/2" G $9.52 $9.33
2704081-0000 Nut, Hex, 5/16", G $0.53 $0.52
2704091-0000 Nut, Hex, 3/4", G $1.29 $1.27
2704121-0000 Nut, Hex, 1-1/2", G $5.76 $5.64
2704151-0000 Nut, Hex, 1/4", G $0.53 $0.52

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

2 



Transpo Industries Price List

 FASTENERS / HARDWARE FOR ALL SYSTEMS--(continued)

Model/Part# Product/Description List Price/Each Net Price/Each

2704161-0000 Nut, Hex, 1", G $3.06 $2.99
2704191-0000 Nut, Hex, 5/8", G Rail $1.53 $1.50
2704241-0100 Nut, Lock, 3/8", Plated $0.53 $0.52
2704281-0100 Nut, T-, 1/2", Plated $1.88 $1.84
2704341-0000 Hex Nut,3/4",G,GR DH $2.70 $2.65
2704851-0000 Nut,Hx,Coupling 5/8-11 x 2 1/8,G $5.76 $5.64
2706071-0100 Screw, Hex Head Washer, No. 8, 1/2" Plated $0.41 $0.40
2706121-0000 Screw, Hex Head Washer 1/4" x 1", G $2.35 $2.30
2706181-0000 Screw, Flat Head 1/2" x 1" Slotted, G $3.06 $2.99
2706221-0100 Screw, Hex, 1/4" x 1" Plated $0.53 $0.52
2706261-0100 Bolt, Button, 1/2" x 2" Hex Socket, Plated $2.35 $2.30
2706311-0100 Bolt, Button, 1/2" x 1-1/4" Hex Socket, Plated $1.76 $1.73
2706441-0000 Screw, Hex Head Washer 1/4" x 2" G, AB, Threaded $0.88 $0.86
2706461-0300 Screw Button 1/2" x 1-3/8" Hx, Socket, S $5.76 $5.64
2708011-0000 Washer, Flat, 1/2" x 1-1/4", G $1.29 $1.27
2708021-0000 Washer, Flat, 3/8" x 1", G $1.29 $1.27
2708041-0000 Washer, Lock, 3/8", G $0.41 $0.40
2708101-0000 Washer, Flat, 1/4" x 1", G $1.53 $1.50
2708121-0000 Washer, Bar, 3" x 2" x 1/4", G $1.65 $1.61
2708153-0000 Washer, Mushroom, Forged, G $32.09 $31.45
2708153-0000 Washer, Lock, 1/2", G $0.76 $0.75
2708191-0000 Washer, Flat, 1" x 2-1/2", G $2.59 $2.53
2708201-0000 Washer, Lock, 3/4", G $1.29 $1.27
2708211-0000 Washer, Bar, Flex Belt, G, 30" $9.05 $8.87
2708221-0000 Washer, Flat, 5/16" x 8/8", G $0.41 $0.40
2708231-0000 Washer, Lock, 5/8", G $0.41 $0.40
2708241-0000 Washer, Lock, 1", G $1.12 $1.09
2708271-0000 Washer, Flat, 1/4" x 1-1/2", G $0.41 $0.40
2708281-0000 Washer, Lock, 1/4", G $0.76 $0.75
2708291-0000 Washer,Flat, 5/8x1 3/4,G $1.29 $1.27
2708321-0300 Washer, Flat, 3/8" x 1-1/2", S $1.65 $1.61
2708381-0000 Washer, Bar, 2" x 2" x 1/2", G $1.53 $1.50
2708481-0000 Washer, Flat, 7/8" x 1-3/4", G $1.53 $1.50
2708491-0000 Washer, Bar, 3" x 3" x 1/4", G $3.06 $2.99
2708651-0000 Washer, Bar, 3" x 2" x 1/4", 7/8" hole, G $1.65 $1.61
2708871-0000 Washer, Bar, 1/8 x 1/4 x 2, w/hole,g $7.93 $7.78
2753071-0000 Plate,Nose Cylinder,G $14.34 $14.05
2753091-0000 Plate clamp, inner cylinder, G (2 REQ.) $17.51 $17.16
2753301-0000 Leg Nose Support, LMA $40.90 $40.09
2760251-0000 Bracket,Pull Out, QG $11.52 $11.29
2760504-0000 Clamp, Belt,LMC $20.33 $19.93
2760505-0000 Plate clamp, outer cylinder, G $58.54 $57.36
2760506-0000 Plate clamp, spacer outer cylinder, G-Spacer, Bay 1, 2, & 3 (2 REQ.) $163.97 $160.69
2760507-0000 Shim,Nose Clamp,G $6.46 $6.34
3540455-0000 Chain Assembly, 5-11, 36" $58.54 $57.36
H3820 Chevron $76.60 $75.07

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

3 



Transpo Industries Price List

 MP-3 ANCHORS

Model/Part# Product Description List Price/Each Net Price/Each

MP-3 PACKAGE

3525110-0000 Pint Pkg., MP-3, consisting of $15.28 $14.97
the following: (price p/pint)

3525040-0100 Resin Assy, 5.5 fluid ounces, 19 ounce can
3525030-0100 Hardener Assy, 10 ounce can
3525140-0000 Promoter Assy, 10 ml

3525100-0000 Quart Pkg, MP-3, consisting of $22.33 $21.89
the following: (price p/ quart)

3525090-0000 Resin Assy, 8.8 fluid ounces, 28 ounce can 
3525080-0000 Hardener Assy, 19 ounce can 
3525150-0000 Promoter Assy, 16 ml

STUDS

2699201-0000 Stud, 3/4" x 6-1/2", Grade 5, G $2.17 $2.13
2698161-0000 Stud, 3/4X7, Grade 5, G $2.47 $2.42
2700731-0500 Rod, Threaded 3/4" x 18", Grade 5, G $5.64 $5.53

MP-3 Anchor F/ Quadguard

3525300-0000 Anchor, MP-3 Kit, 3/4" x 7", G5, Vertical $37.03 $36.28
3525130-0000 Anchor, MP-3 kit, 3/4" x 6-1/2", G5, Horizontal $37.03 $36.28
3540260-0000 PCMB Anchor Assy $605.33 $593.23

3540243-0000 CZ Anchor/Lift Kit, 3-Bay, QG, W/ 18" Threaded Rod $458.41 $449.24
3540244-0000 CZ Anchor/Lift Kit, 4-Bay, QG, W/ 18" Threaded Rod $540.69 $529.87
3540245-0000 CZ Anchor/Lift Kit, 5-Bay, QG, W/ 18" Threaded Rod $646.47 $633.54
3540246-0000 CZ Anchor/Lift Kit, 6-Bay, QG, W/ 18" Threaded Rod $705.24 $691.14
3540247-0000 CZ Anchor/Lift Kit, 7-Bay, QG, W/ 18" Threaded Rod $775.77 $760.25
3540248-0000 CZ Anchor/Lift Kit, 8-Bay, QG, W/ 18" Threaded Rod $881.56 $863.92
3540249-0000 CZ Anchor/Lift Kit, 9-Bay, QG, W/ 18" Threaded Rod $940.33 $921.52

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

4 



Transpo Industries Price List
 NEAT SYSTEM- Temporary Impact Attenuator Gating, Test Level 2

Model/Part# Product/Description List Price/Each Net Price/Each

Temporary Impact Attenuator Gating Test Level 2 (70km/h)

N-E-A-T 2B TL-2 Cartridge, backup support structure, $6,053.35 $5,932.28
backup, transition panels and attachment
hardware for Barrier System (BSI) barrier

N-E-A-T 2C           TL-2 Cartridge, backup support structure, $6,053.35 $5,932.28
backup, transition panels, and attachment
hardware for "New Jersey" PCMB

Neat System Replacement Parts:

3577111-0000       BSI Barrier backup support structure, $2,550.63 $2,499.62
                              includes backup, transition panels and

attachment hardware
3577051-0000  ''New Jersey'' PCMB backup support structure, $2,550.63 $2,499.62

includes backup, transition panels, and
attachment hardware

3577020-0000 TL-2 Cartridge $5,418.63 $5,310.25
3577180-0000 Nose Assy, Neat, Yellow $411.39 $403.16

 QUADGUARD SYSTEM w/ PLASTIC NOSE

Model/Part# Product/Description List Price/Each Net Price/Each

QS2402 G or Y QuadGuard, 2'0" Wide,2-Bay, (Gray or Yellow), (40km/h) $10,340.00 $10,133.20
QS3002 G or Y QuadGuard, 2'6" Wide,2-Bay, (Gray or Yellow), (40km/h) $10,580.00 $10,368.40
QS3602 G or Y QuadGuard, 3'0" Wide,2-Bay, (Gray or Yellow), (40km/h) $10,820.00 $10,603.60

QS2403 G or Y QuadGuard, 2'0" Wide,3-Bay, (Gray or Yellow), Test Level 2 (70km/h) $12,240.00 $11,995.20
QS3003 G or Y QuadGuard, 2'6" Wide,3-Bay, (Gray or Yellow), Test Level 2 (70km/h) $12,480.00 $12,230.40
QS3603 G or Y QuadGuard, 3'0" Wide,3-Bay, (Gray or Yellow), Test Level 2 (70km/h) $13,020.00 $12,759.60

QS2404 G or Y QuadGuard, 2'0" Wide,4-Bay, (Gray or Yellow), (80km/h) $15,610.00 $15,297.80
QS3004 G or Y QuadGuard, 2'6" Wide,4-Bay, (Gray or Yellow), (80km/h) $16,000.00 $15,680.00
QS3604 G or Y QuadGuard, 3'0" Wide,4-Bay, (Gray or Yellow), (80km/h) $16,410.00 $16,081.80

QS2405 G or Y QuadGuard, 2'0" Wide,5-Bay, (Gray or Yellow), (90km/h) $17,760.00 $17,404.80
QS3005 G or Y QuadGuard, 2'6" Wide,5-Bay, (Gray or Yellow), (90km/h) $18,150.00 $17,787.00
QS3605 G or Y QuadGuard, 3'0" Wide,5-Bay, (Gray or Yellow), (90km/h) $18,550.00 $18,179.00

QS2406 G or Y QuadGuard, 2'0" Wide,6-Bay, (Gray or Yellow), Test Level 3 (100km/h) $20,050.00 $19,649.00
QS3006 G or Y QuadGuard, 2'6" Wide,6-Bay, (Gray or Yellow), Test Level 3 (100km/h) $20,580.00 $20,168.40
QS3606 G or Y QuadGuard, 3'0" Wide,6-Bay, (Gray or Yellow), Test Level 3 ( 100km/h) $21,140.00 $20,717.20

QS2407 G or Y QuadGuard, 2'0" Wide,7-Bay, (Gray or Yellow), (105km/h) $24,020.00 $23,539.60
QS3007 G or Y QuadGuard, 2'6" Wide,7-Bay, (Gray or Yellow), (105km/h) $24,540.00 $24,049.20
QS3607 G or Y QuadGuard, 3'0" Wide,7-Bay, (Gray or Yellow), (105km/h) $25,250.00 $24,745.00

QS2408 G or Y QuadGuard, 2'0" Wide,8-Bay, (Gray or Yellow), (110km/h) $26,810.00 $26,273.80
QS3008 G or Y QuadGuard, 2'6" Wide,8-Bay, (Gray or Yellow), (110km/h) $27,530.00 $26,979.40
QS3608 G or Y QuadGuard, 3'0" Wide,8-Bay, (Gray or Yellow), (110km/h) $28,260.00 $27,694.80

QS2409 G or Y QuadGuard, 2'0" Wide,9-Bay, (Gray or Yellow), (115km/h) $29,730.00 $29,135.40
QS3009 G or Y QuadGuard, 2'6" Wide,9-Bay, (Gray or Yellow), (115km/h) $30,480.00 $29,870.40
QS3609 G or Y QuadGuard, 3'0" Wide,9-Bay, (Gray or Yellow), (115km/h) $31,360.00 $30,732.80

Model/Part# Product/Description List Price/Each Net Price/Each

BACKUPS
3540031-0000 Backup Assembly, Tension Strut, 24" wide $2,127.49 $2,084.94
3540032-0000 Backup Assembly, Tension Strut, 30" wide $2,186.26 $2,142.53
3540033-0000 Backup Assembly, Tension Strut, 36" wide $2,268.54 $2,223.17

3540141-0000 Backup Assembly, Concrete, 24" wide $1,222.42 $1,197.98
3540142-0000 Backup Assembly, Concrete, 30" wide $1,281.19 $1,255.57
3540143-0000 Backup Assembly, Concrete, 36" wide $1,363.47 $1,336.20

3540200-0000 Deflector Retrofit Assy., F/Con. B-up, QG $340.87 $334.05

QUADGUARD SYSTEM -- BACKUPS

MATERIALS DELIVERED 

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

5 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

PERMANENT NOSE ASSEMBLY(Plastic)
3540050-0000 Plastic Nose Assembly, Gray, QG $594.66 $582.77
3540050-0100 Plastic Nose Assembly, Yellow, QG $594.66 $582.77

  
PERMANENT NOSE ASSEMBLY(Flex Belt)

3540499-0000  Belt Nose Assy. 24",30", Gray,Permanent QG $1,669.08 $1,635.70
3540499-0100  Belt Nose Assy. 24",30", Yellow,Permanent QG $1,669.08 $1,635.70
3540498-0000  Belt Nose Assy. 36", Gray,Permanent QG $1,669.08 $1,635.70
3540498-0100  Belt Nose Assy. 36", Yellow,Permanent QG $1,669.08 $1,635.70
2714952-0000 Leg Support for Flex Belt,QG $26.15 $25.63

MONORAILS
3540060-0300 Monorail Assembly,  3-Bay,QG   $1,281.19 $1,255.57
3540060-0400 Monorail Assembly,  4-Bay,QG   $1,727.85 $1,693.29
3540060-0500 Monorail Assembly,  5-Bay,QG   $2,303.80 $2,257.72
3540060-0600 Monorail Assembly,  6-Bay,QG   $2,891.50 $2,833.67
3540060-0700 Monorail Assembly,  7-Bay,QG   $3,302.89 $3,236.84
3540060-0800 Monorail Assembly,  8-Bay,QG   $3,890.60 $3,812.79
3540060-0900 Monorail Assembly,  9-Bay,QG   $4,301.99 $4,215.95

2760051-0000 Monorail, 1-Bay, QG, G $434.90 $426.20
2760061-0000 Monorail, 2-Bay, QG, G $869.80 $852.41
2760071-0000 Monorail, 3-Bay, QG, G $1,128.39 $1,105.82
2760041-0000 Endcap, Monorail, QG, G $70.52 $69.11
2760091-0000 Monorail Guide, QG, G $76.40 $74.87

CARTRIDGES
3540010-0000 Cartridge Assembly, Type I, QG $640.66 $627.85
3540020-0000 Cartridge Assembly, Type II, QG $640.66 $627.85

DIAPHRAGMS
3540071-0000 Diaphragm Assy, Quad Beam, 24" wide $787.52 $771.77
3540072-0000 Diaphragm Assy, Quad Beam, 30" wide $869.80 $852.41
3540073-0000 Diaphragm Assy, Quad Beam, 36" wide $928.57 $910.00

PANELS
3540040-0000 Fender Panel Assembly, Quad Beam $552.44 $541.39

3540150-0000 End Shoe, Quad Beam $329.11 $322.53
3540458-0000 Transition Assy, Side Panel, End Shoe (approx. 3' long extension panel) $869.80 $852.41

354018L-0000 Trans. Panel Assy., 4" Offset, Left $634.72 $622.03
354018R-0000 Trans. Panel Assy., 4" Offset, Right $634.72 $622.03
354029L-0000 Trans. Panel Assy., 9" Offset, Left $869.80 $852.41
354029R-0000 Trans. Panel Assy., 9" Offset, Right $869.80 $852.41
354021N-0000 Trans. Panel, Quad to W-Beam, 24" $869.80 $852.41
354021M-0000 Trans. Panel, Quad to W-Beam, 30" $869.80 $852.41
354021W-0000 Trans. Panel, Quad to W-Beam, 36" $869.80 $852.41

354022N-0000 Trans. Panel, Quad to Thrie Beam, 24" $869.80 $852.41
354022M-0000 Trans. Panel, Quad to Thrie Beam, 30" $869.80 $852.41
354022W-0000 Trans. Panel, Quad to Thrie Beam, 36" $869.80 $852.41

2760141-0000 Panel, Side F/Steel & Concrete Backups $76.40 $74.87

MISCELLANEOUS
2699121-0000 Bolt, Hex, 3/4" x 2", G8, G $3.88 $3.80
2699341-0000 Bolt, Rail, 5/8", G $2.70 $2.65
2699571-0000 Bolt, Hex, 5/8" X 3-1/2", G5, G $3.06 $2.99
2701021-0000 Bolt, Hex, 3/8" x 1-1/2", G2, G $0.53 $0.52
2704031-0000 Nut, Hex, 3/8", G $0.53 $0.52
2704191-0000 Nut, Hex, 5/8", G Rail $1.53 $1.50
2704341-0000 Hex Nut,3/4",G,GR DH $2.70 $2.65
2708021-0000 Washer, Flat, 3/8" x 1", G $1.29 $1.27
2708041-0000 Washer, Lock, 3/8", G $0.41 $0.40
2708231-0000 Washer, Lock, 5/8", G $0.41 $0.40
2715044-0000 Spring, Die, 1 1/2 OD X 3/4 x 6, F/69"/90" QG $28.21 $27.65
2760091-0000 Monorail Guide, QG, G $76.40 $74.87
2760251-0000 Pull out, bracket $11.52 $11.29
2760294-0000 Locking Bar, Cartridge Support $7.11 $6.96
2760501-0000 Tel St 1 3/4 x 1 3/4 x 12 GA,H4S,G10" LG $18.51 $18.14
2760502-0000 Tel St 2 x 2 x 12 GA, H2S,G10" Long $18.92 $18.55
2760503-0000 Bracket, Pivot Support, Transition, QG $91.33 $89.50
2708081-0000 Washer, Flat, 3/4 x 2, Hvy, G $1.53 $1.50
2760231-0000 Bracket, Lifting, QG, CZ $24.68 $24.19
2760381-0000 Anchor, PCMB,QG $70.52 $69.11
2760292-0000 Cartridge Support Bracket-Diaphragm $33.03 $32.37
2760293-0000 Cartridge Support Bracket-Tension Strut Backup $35.50 $34.79
3525130-0000 Anchor, MP-3 kit, 3/4" x 6-1/2", G5, Horiz. $37.03 $36.28
3525300-0000 Anchor, MP-3 Kit, 3/4" x 7", G5, Vert. $37.03 $36.28
2706604-0000 Screw Flat 5/8" x 5" G8, Hex Socket $10.11 $9.91
2708291-0000 Washer,Flat, 5/8x1 3/4,G $1.29 $1.27
2708841-0000 Washer, Mushroom, Forged, QG,G $30.56 $29.95
2715343-0000 Spring Die (replaces part # 2021611-0000 Elastomeric Bushing) $8.93 $8.75
2704141-0000 Nut, Hex, 5/8", G $0.53 $0.52
These items compose the Mushroom Bolt Assembly for QuadGuard, 24", 30" & 36".

 QUADGUARD -- MONORAILS & PARTS

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

6 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

QS6903 G or Y QuadGuard, 69" Wide, 3-Bay, (Gray or Yellow) $14,970.00 $14,670.60
QS6904 G or Y QuadGuard, 69" Wide, 4-Bay, (Gray or Yellow) $17,920.00 $17,561.60
QS6905 G or Y QuadGuard, 69" Wide, 5-Bay, (Gray or Yellow) $20,870.00 $20,452.60
QS6906 G or Y QuadGuard, 69" Wide, 6-Bay, (Gray or Yellow) $23,950.00 $23,471.00
QS6907 G or Y QuadGuard, 69" Wide, 7-Bay, (Gray or Yellow) $27,200.00 $26,656.00
QS6908 G or Y QuadGuard, 69" Wide, 8-Bay, (Gray or Yellow) $30,000.00 $29,400.00
QS6909 G or Y QuadGuard, 69" Wide, 9-Bay, (Gray or Yellow) $32,770.00 $32,114.60

QS9003 G or Y QuadGuard, 90" Wide, 3-Bay, (Gray or Yellow) $15,970.00 $15,650.60
QS9004 G or Y QuadGuard, 90" Wide, 4-Bay, (Gray or Yellow) $18,960.00 $18,580.80
QS9005 G or Y QuadGuard, 90" Wide, 5-Bay, (Gray or Yellow) $22,020.00 $21,579.60
QS9006 G or Y QuadGuard, 90" Wide, 6-Bay, (Gray or Yellow) $25,310.00 $24,803.80
QS9007 G or Y QuadGuard, 90" Wide, 7-Bay, (Gray or Yellow) $29,010.00 $28,429.80
QS9008 G or Y QuadGuard, 90" Wide, 8-Bay, (Gray or Yellow) $31,770.00 $31,134.60
QS9009 G or Y QuadGuard, 90" Wide, 9-Bay, (Gray or Yellow) $34,630.00 $33,937.40

BACKUPS List Price/Each Net Price/Each
3540401-0000 Concrete Backup 69" $1,727.85 $1,693.29
3540402-0000 Concrete Backup 90" $1,868.90 $1,831.52
3540391-0000 Tension Strut Backup 69" $2,656.42 $2,603.29
3540392-0000 Tension Strut Backup 90" $2,797.47 $2,741.52

PLASTIC NOSE ASSEMBLY
3540131-0000 Nose Assembly, Gray, QG, 69" or 90" $594.66 $582.77
3540131-0100 Nose Assembly, Yellow, QG, 69" or 90" $594.66 $582.77

FLEX BELT NOSE ASSEMBLY
3540505-0000 Belt Nose Assy. 90"(8 & 9Bays) Gray, QG $1,786.62 $1,750.89
3540505-0100 Belt Nose Assy.  90"(8 & 9Bays) Yellow, QG $1,786.62 $1,750.89
3540506-0000 Belt Nose Assy.69"(3-9 Bays) or  90"(3-7 ) Gray, QG $1,786.62 $1,750.89
3540506-0100 Belt Nose Assy.69"(3-9 Bays) or 90"(3-7 ) Yellow, QG $1,786.62 $1,750.89

PANELS
3540150-0000 End shoe, Quad Beam $329.11 $322.53
3540458-0000 Transition Assy, Side Panel, End Shoe $869.80 $852.41
3540370-0000 Fender Panel Assembly, Quad Beam F/ 69" / 90" $658.23 $645.06
3540211-0000 Trans. Panel, Quad-W/Beam,F/Tens. Strut B/U,69/90 $881.56 $863.92
3540212-0000 Trans. Panel, Quad-W/Beam,F/ Conc. B/U,69/90 $658.23 $645.06
3540221-0000 Trans. Panel, Quad-Thrie,F/Tens. Strut B/U,69/90 $681.74 $668.10
3540222-0000 Trans. Panel, Quad-Thrie, F/Conc. B/U,69/90 $893.31 $875.44
354042L-0000 Trans. Panel Assy., 4" Offset, left, F/ 69/90" $658.23 $645.06
354042R-0000 Trans. Panel Assy., 4" Offset, right, F/ 69/90" $658.23 $645.06
2701991-0000 Bolt, Hex, 5/8 x 4, G5, G $2.47 $2.42
2760471-0000 Panel, Side, QG Wide $158.68 $155.51
2699601-0000 Bolt, Hex, 3/8 x 3 1/2,G2,G, All Thread $0.65 $0.63
2708841-0000 Washer, Mushroom, Forged, QG,G $30.56 $29.95
2706605-0000 Screw Flat, 5/8 x 81/2 Hex $12.93 $12.67
2715044-0000 Spring Die 1 1/2" O.D. $28.21 $27.65
2704191-0000 Nut, Hex, 5/8", G Rail $1.53 $1.50
The above (4) items compose the Mushroom Bolt Assembly for QuadGuard, 69/90 units.
2760573-0000 Universal Hinge Plate(replaces 2760435-0000) $62.30 $61.05

DIAPHRAGM ASSEMBLIES
3540340-0673 Diaphragm Assembly, QG, 673MM $1,046.11 $1,025.19
3540340-0753 Diaphragm Assembly, QG, 753MM $1,069.62 $1,048.23
3540340-0833 Diaphragm Assembly, QG, 833MM $1,093.13 $1,071.27
3540340-0913 Diaphragm Assembly, QG, 913MM $1,151.90 $1,128.86
3540340-0993 Diaphragm Assembly, QG, 993MM $1,175.41 $1,151.90
3540340-1073 Diaphragm Assembly, QG, 1073MM $1,245.93 $1,221.01
3540340-1153 Diaphragm Assembly, QG, 1153MM $1,269.44 $1,244.05
3540340-1233 Diaphragm Assembly, QG, 1233MM $1,281.19 $1,255.57
3540340-1273 Diaphragm Assembly, QG, 1273MM $1,304.70 $1,278.61
3540340-1313 Diaphragm Assembly, QG, 1313MM $1,316.46 $1,290.13
3540340-1393 Diaphragm Assembly, QG, 1393MM $1,328.21 $1,301.65
3540340-1473 Diaphragm Assembly, QG, 1473MM $1,339.96 $1,313.16
3540340-1513 Diaphragm Assembly, QG, 1513MM $1,363.47 $1,336.20
3540340-1553 Diaphragm Assembly, QG, 1553MM $1,375.23 $1,347.72
3540340-1633 Diaphragm Assembly, QG, 1633MM $1,410.49 $1,382.28
3540340-1729 Diaphragm Assembly, QG, 1729MM $1,457.50 $1,428.35
3540340-1793 Diaphragm Assembly, QG, 1793MM $1,481.01 $1,451.39
3540340-1873 Diaphragm Assembly, QG, 1873MM $1,504.52 $1,474.43
3540340-1953 Diaphragm Assembly, QG, 1953MM $1,528.03 $1,497.47
3540340-2033 Diaphragm Assembly, QG, 2033MM $1,551.54 $1,520.51

QUADGUARD  69"/90" SYSTEMS w/ PLASTIC NOSE

MATERIALS DELIVERED 

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

7 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

QUADGUARD CZ SYSTEM - (Construction Zone)-

QZ2403 G or Y QuadGuardcz, 2'0" Wide,3-Bay, Work Zone(Gray or Yellow), Test Level 2 (70km/h) $12,240.00 $11,995.20
QZ3003 G or Y QuadGuardcz, 2'6" Wide,3-Bay, Work Zone(Gray or Yellow), Test Level 2 (70km/h) $12,480.00 $12,230.40
QZ3603 G or Y QuadGuardcz, 3'0" Wide,3-Bay, Work Zone(Gray or Yellow), Test Level 2 (70km/h) $13,020.00 $12,759.60

QZ2404 G or Y QuadGuard, 2'0" Wide,4-Bay, Work Zone(Gray or Yellow), (80km/h) $15,610.00 $15,297.80
QZ3004 G or Y QuadGuard, 2'6" Wide,4-Bay, Work Zone(Gray or Yellow), (80km/h $16,000.00 $15,680.00
QZ3604 G or Y QuadGuard, 3'0" Wide,4-Bay, Work Zone(Gray or Yellow), (80km/h) $16,410.00 $16,081.80

QZ2405 G or Y QuadGuard, 2'0" Wide,5-Bay, Work Zone(Gray or Yellow), (90km/h) $17,760.00 $17,404.80
QZ3005 G or Y QuadGuard, 2'6" Wide,5-Bay, Work Zone(Gray or Yellow), (90km/h) $18,150.00 $17,787.00
QZ3605 G or Y QuadGuard, 3'0" Wide,5-Bay, Work Zone(Gray or Yellow), (90km/h) $18,550.00 $18,179.00

QZ2406 G or Y QuadGuardcz, 2'0" Wide,6-Bay, Work Zone(Gray or Yellow), Test Level 3 (100km/h) $20,050.00 $19,649.00
QZ3006 G or Y QuadGuardcz, 2'6" Wide,6-Bay, Work Zone(Gray or Yellow), Test Level 3 (100km/h) $20,580.00 $20,168.40
QZ3606 G or Y QuadGuardcz, 3'0" Wide,6-Bay, Work Zone(Gray or Yellow), Test Level 3 (100km/h) $21,140.00 $20,717.20

QZ2407 G or Y QuadGuard, 2'0" Wide,7-Bay, Work Zone(Gray or Yellow), (105km/h) $24,020.00 $23,539.60
QZ3007 G or Y QuadGuard, 2'6" Wide,7-Bay, Work Zone(Gray or Yellow), (105km/h) $24,540.00 $24,049.20
QZ3607 G or Y QuadGuard, 3'0" Wide,7-Bay, Work Zone(Gray or Yellow), (105km/h) $25,250.00 $24,745.00

QZ2408 G or Y QuadGuard, 2'0" Wide,8-Bay, Work Zone(Gray or Yellow), (110km/h) $26,810.00 $26,273.80
QZ3008 G or Y QuadGuard, 2'6" Wide,8-Bay, Work Zone(Gray or Yellow), (110km/h) $27,530.00 $26,979.40
QZ3608 G or Y QuadGuard, 3'0" Wide,8-Bay, Work Zone(Gray or Yellow), (110km/h) $28,260.00 $27,694.80

QZ2409 G or Y QuadGuard, 2'0" Wide,9-Bay, Work Zone(Gray or Yellow), (115km/h) $29,730.00 $29,135.40
QZ3009 G or Y QuadGuard, 2'6" Wide,9-Bay, Work Zone(Gray or Yellow), (115km/h) $30,480.00 $29,870.40
QZ3609 G or Y QuadGuard, 3'0" Wide,9-Bay, Work Zone(Gray or Yellow), (115km/h) $31,360.00 $30,732.80

Model/Part# Product/Description List Price/Each Net Price/Each

REACT CZ SYSTEM - (Construction Zone)-
43-B-036 React 4 Cyl., 36" (910mm),w/Steel B-up, Work Zone, Test Level 2 (43mph) $30,290.00 $29,684.20
55-B-036 React 6 Cyl., 36" (910mm), w/Steel B-up, Work Zone, (90km/h) $35,904.00 $35,185.92
62-B-036 React 9 Cyl., 36" (910mm), w/Steel B-up, Work Zone Test Level 3 (62mph) $39,630.00 $38,837.40

Model/Part# Product/Description List Price/Each Net Price/Each

QH2409G or Y QuadGuard, 2'0" Wide,9-Bay,70 MPH (113K) $30,910.00 $30,291.80
QH3009G or Y QuadGuard, 2'6" Wide,9-Bay,70 MPH (113K) $31,650.00 $31,017.00
QH3609G or Y QuadGuard, 3'0" Wide,9-Bay,70 MPH (113K) $32,560.00 $31,908.80

Belt Nose is Standard for the QuadGuard HS 
BACKUPS List Price/Each Net Price/Each

3540031-0000 Backup Assembly, Tension Strut, 24" wide $2,127.49 $2,084.94
3540032-0000 Backup Assembly, Tension Strut, 30" wide $2,186.26 $2,142.53
3540033-0000 Backup Assembly, Tension Strut, 36" wide $2,268.54 $2,223.17

3540141-0000 Backup Assembly, Concrete, 24" wide $1,222.42 $1,197.98
3540142-0000 Backup Assembly, Concrete, 30" wide $1,281.19 $1,255.57
3540143-0000 Backup Assembly, Concrete, 36" wide $1,363.47 $1,336.20

NOSES
3540611-0000 Belt Nose Assembly, Gray, High Speed, 24" & 30" $1,669.08 $1,635.70
3540611-0100 Belt Nose Assembly, Yellow, High Speed, 24" & 30" $1,669.08 $1,635.70
3540612-0000 Belt Nose Assembly, Gray, High Speed, 36" $1,669.08 $1,635.70
3540612-0100 Belt Nose Assembly, Yellow, High Speed, 36" $1,669.08 $1,635.70
2699561-0000 Bolt, Hex, 3/4 x 4, G5,G $9.05 $8.87
2760591-0000 Diaphragm, QG High Speed, 24", no hardware $764.01 $748.73
2760592-0000 Diaphragm, QG High Speed, 30", no hardware $946.20 $927.28
2760593-0000 Diaphragm, QG High Speed, 36", no hardware $1,040.24 $1,019.43
2699016-0000 Rod, Threaded, 5/8 x 6, G5, G $4.11 $4.03
3540621-0000 Bumper Assembly, QG High Speed,G, 24" $431.96 $423.32
3540622-0000 Bumper Assembly, QG High Speed,G, 30" $487.79 $478.04
3540623-0000 Bumper Assembly, QG High Speed,G, 36" $543.04 $532.18
2760017-0000 Spacer, Diaphragm, QG High Speed, 24", no hardware $86.39 $84.66
2760028-0000 Spacer, Diaphragm, QG High Speed, 30", no hardware $92.56 $90.71
2760000-0000 Spacer, Diaphragm, QG High Speed, 36", no hardware $98.73 $96.76
2021042-0000 Bumper, HDPE, QG High Speed, 24" no hardware $69.11 $67.73
2021043-0000 Bumper, HDPE, QG High Speed, 30" no hardware $74.64 $73.15
2021044-0000 Bumper, HDPE, QG High Speed, 36" no hardware $80.22 $78.62
2700012-0000 Bolt, Hex, 1/2 x 8, G5,G, all Threaded $16.46 $16.13

QUADGUARD HIGH SPEED SYSTEM

TEMPORARY QUADGUARDcz & REACT350cz
TEMPORARY IMPACT ATTENUATORS - REDIRECTIVE

MATERIALS DELIVERED 

MATERIALS DELIVERED 

MATERIALS DELIVERED 

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

8 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

3540060-0900 Monorail Assembly,  9-Bay,QG   $4,301.99 $4,215.95

2760051-0000 Monorail, 1-Bay, QG, G $434.90 $426.20
2760061-0000 Monorail, 2-Bay, QG, G $869.80 $852.41
2760071-0000 Monorail, 3-Bay, QG, G $1,128.39 $1,105.82
2760041-0000 Endcap, Monorail, QG, G $70.52 $69.11
2760091-0000 Monorail Guide, QG, G $76.40 $74.87

CARTRIDGES
3540010-0000 Cartridge Assembly, Type I, QG $640.66 $627.85
3540020-0000 Cartridge Assembly, Type II, QG $640.66 $627.85

DIAPHRAGMS
3540015-0000 Diaphragm Assy, Quad Beam, 24" wide- High Speed $1,034.36 $1,013.67
3540016-0000 Diaphragm Assy, Quad Beam, 30" wide- High Speed $1,128.39 $1,105.82
3540017-0000 Diaphragm Assy, Quad Beam, 36" wide- High Speed $1,187.16 $1,163.42
3540071-0000 Diaphragm Assy, Quad Beam, 24" wide $787.52 $771.77
3540072-0000 Diaphragm Assy, Quad Beam, 30" wide $869.80 $852.41
3540073-0000 Diaphragm Assy, Quad Beam, 36" wide $928.57 $910.00

PANELS
3540040-0000 Fender Panel Assembly, Quad Beam $552.44 $541.39

Model/Part# Product/Description List Price/Each Net Price/Each

QS2405E G or Y QuadGuard,ELITE 2'0" Wide 5-Bay (Gray or Yellow), Test Level 2 (70km/h) $32,910.00 $32,251.80
QS3005E G or Y QuadGuard,ELITE 2'6" Wide 5-Bay (Gray or Yellow), Test Level 2 (70km/h) $32,720.00 $32,065.60
QS3605E G or Y QuadGuard,ELITE 3'0" Wide 5-Bay (Gray or Yellow), Test Level 2 (70km/h) $34,580.00 $33,888.40

QS2408E G or Y QuadGuard,ELITE 2'0" Wide 8-Bay (Gray or Yellow), Test Level 3 (100km/h) $39,590.00 $38,798.20
QS3008E G or Y QuadGuard,ELITE 2'6" Wide 8-Bay (Gray or Yellow), Test Level 3 (100km/h) $40,370.00 $39,562.60
QS3608E G or Y QuadGuard,ELITE 3'0" Wide 8-Bay (Gray or Yellow), Test Level 3 (100km/h) $41,480.00 $40,650.40

BACKUPS
3540484-0000 Backup Assembly, Tension Strut, 24" wide, Elite $2,103.98 $2,061.90
3540485-0000 Backup Assembly, Tension Strut, 30" wide, Elite $2,162.75 $2,119.49
3540486-0000 Backup Assembly, Tension Strut, 36" wide, Elite $2,245.03 $2,200.13

NARROW NOSE ASSEMBLY
3540495-0000 Elite Belt Nose Assy., 24" & 30", Gray  $2,903.26 $2,845.19
3540495-0100 Elite Belt Nose Assy., 24" & 30", Yellow $2,903.26 $2,845.19
3540504-0000 Elite Belt Nose Assy., 36", Gray  $2,903.26 $2,845.19
3540504-0100 Elite Belt Nose Assy., 36", Yellow $2,903.26 $2,845.19

CYLINDER ASSEMBLY
3540480-0000 Cylinder Assy,Elite,QE1 $1,986.44 $1,946.71
3540479-0000 Cylinder Assy,Elite,QE2 $2,738.70 $2,683.92

PANELS
3540040-0000 Fender Panel Assembly, Quad Beam-36" $552.44 $541.39

DIAPHRAGMS
3540464-0000 QuadGuard Elite, Diaphragm, 24" $916.82 $898.48
3540465-0000 QuadGuard Elite, Diaphragm, 30" $999.10 $979.11
3540466-0000 QuadGuard Elite, Diaphragm, 36" $1,069.62 $1,048.23

Model/Part# Product/Description List Price/Each Net Price/Each

QS6905E G or Y QuadGuard, ELITE, 69" Wide, 5-Bay (Gray or Yellow), Test Level 2 (70km/h) $38,930.00 $38,151.40
QS9005E G or Y QuadGuard, ELITE, 90" Wide, 5-Bay (Gray or Yellow), Test Level 2 (70km/h) $42,140.00 $41,297.20

QS6908E G or Y QuadGuard, ELITE, 69" Wide, 8-Bay (Gray or Yellow), Test Level 3 (100km/h) $53,300.00 $52,234.00
QS9008E G or Y QuadGuard, ELITE, 90" Wide, 8-Bay (Gray or Yellow), Test Level 3 (100km/h) $56,520.00 $55,389.60
Note: Backups & Transitions NOT included with units; must be ordered separately.

Model/Part# Product/Description List Price/Each Net Price/Each
BACKUPS

3540396-0000 Backup Assembly, Tension Strut, 69" wide, ELITE $2,550.63 $2,499.62
3540397-0000 Backup Assembly, Tension Strut, 90" wide, ELITE $2,691.68 $2,637.85

WIDE NOSE ASSEMBLY
3540502-0100 Elite Belt Nose Assy., 69", Yellow $3,173.60 $3,110.13
3540503-0100 Elite Belt Nose Assy., 90" Yellow $3,173.60 $3,110.13

CYLINDER ASSEMBLY
3540480-0000 Cylinder Assy,Elite,QE1 $1,986.44 $1,946.71
3540479-0000 Cylinder Assy,Elite,QE2 $2,738.70 $2,683.92

PANELS
3540472-00000 Fender Panel Assy, QG, LMC/QGE, 69/90 $705.24 $691.14

MATERIALS DELIVERED 

QUADGUARD HIGH SPEED SYSTEM - MONORAILS & PARTS--(continued)

QUADGUARD ELITE 69" & 90" SYSTEMS & PARTS 

QUADGUARD  ELITE 24", 30", 36" SYSTEMS & PARTS

MATERIALS DELIVERED 

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

9 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

8 BAY ELITE, 69" SYSTEM, DIAPHRAGMS
3540501-0993 Diaphragm Assembly, QG Elite, 0993MM $1,294.83 $1,268.93
3540501-1073 Diaphragm Assembly, QG Elite, 1073MM $1,366.76 $1,339.43
3540501-1153 Diaphragm Assembly, QG Elite, 1153MM $1,390.74 $1,362.93
3540501-1233 Diaphragm Assembly, QG Elite, 1233MM $1,426.71 $1,398.18
3540342-1313 Diaphragm Assembly, QG Elite/LMC, 1313MM $1,450.69 $1,421.67
3540342-1393 Diaphragm Assembly, QG Elite, 1393MM $1,462.68 $1,433.42
3540342-1473 Diaphragm Assembly, QG Elite, 1473MM $1,486.66 $1,456.92
3540342-1553 Diaphragm Assembly, QG Elite, 1553MM $1,498.64 $1,468.67

8 BAY ELITE, 90" SYSTEM, DIAPHRAGMS
3540501-0833 Diaphragm Assembly, QG Elite, 0883MM $1,222.89 $1,198.44
3540501-0993 Diaphragm Assembly, QG Elite, 0993MM $1,294.83 $1,268.93
3540501-1153 Diaphragm Assembly, QG Elite, 1173MM $1,390.74 $1,362.93
3540501-1313 Diaphragm Assembly, QG Elite, 1313MM $1,450.69 $1,421.67
3540342-1473 Diaphragm Assembly, QG Elite, 1473MM $1,486.66 $1,456.92
3540342-1633 Diaphragm Assembly, QG Elite, 1633MM $1,534.61 $1,503.92
3540342-1793 Diaphragm Assembly, QG Elite, 1793MM $1,606.55 $1,574.42
3540342-1953 Diaphragm Assembly, QG Elite, 1953MM $1,654.50 $1,621.41

Model/Part# Product/Description List Price/Each Net Price/Each

43-B-036 43 MPH (70km/h), TL-2, 4 Cyl., 36" (910mm),w/Steel B-up $30,606.00 $29,993.88

55-B-036 55 MPH (90km/h),  6 Cyl., 36" (910mm), w/Steel B-up $35,904.00 $35,185.92

62-B-036 62 MPH (100km/h), TL-3, 9 Cyl., 36" (910mm), w/Steel B-up $40,341.00 $39,534.18

NOSE OPTIONS List Price/Each Net Price/Each

3535003-3000 Reflective Nose-Gore $293.85 $287.97
3535003-4000 Reflective Nose-Left or Right $293.85 $287.97

Left and Right are also referred to as "Universal Noses"

ANCHORING OPTIONS
3525020-0000 Anchor, MP-3 Kit, 3/4" x 7 1/2", Vertical $86.98 $85.24
This option is the same as used in the Installation of Permanent QuadGuards on Concrete Pads.
There are (7) seven of these required for the Side Mounted Units, and (10) ten for the Self-Contained Units

3525310-0000 Asphalt Anchor Kit, for React 350 Units $846.29 $829.37
This option includes the 18" threaded rods and MP-3 Kits

REACT 350 NARROW --36"

MATERIALS DELIVERED 

QUADGUARD  ELITE 69" & 90" SYSTEMS & PARTS--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

10 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

3535079-0000 Debris Cover Assembly, 36", REACT 350 (per cylinder) $75.58 $74.07
3535055-0*00 Amber or Clear Delineator $12.58 $12.33

     (can be flipped over for desired color to face toward traffic)
4204 350.4 New Backup, Single Cable $717.00 $702.66
4206 350.6 New Backup, Single Cable $916.82 $898.48
4209 350.9 New Backup, Single Cable $1,140.14 $1,117.34
4311 350.11 Cylinder-New Cable $1,528.03 $1,497.47
3535005-0140 350.4 Cable System for Side Mount $2,151.00 $2,107.98
4304 350.4 Bottom Cable $587.70 $575.95
3535005-0160 350.6 Cable System for Side Mount $2,621.16 $2,568.73
4306 350.6 Bottom Cable $622.97 $610.51
3535005-0190 350.9 Cable System for Side Mount $2,926.76 $2,868.23
4309 350.9 Bottom Cable, 30'3" $1,022.60 $1,002.15
3535034-0000 Side Mount Anchor/Cable Anchor Cover Plate (Concrete Backup-Transition) $834.54 $817.85
3535005-0210 350.11 Cable for Side Mount(2) $3,679.02 $3,605.44
4330 3/4" Wedge Ferrule for Side Mount(2) $211.57 $207.34
3535044-0000 Cable Strap Assembly, Self-Contained Backup $24.68 $24.19
3535045-0000 Cable Strap Assembly, ConcreteBackup $43.25 $42.39
4211 350 HS 11 Cylinder, Bottom Cable $1,528.03 $1,497.47
4731 Retainer Plate $58.77 $57.59
3535032-0000 Pullout Bracket Assembly $98.73 $96.76
4751 3" x 3" Tubing $74.05 $72.57
2765020-0000 Galvanized Stabilizer Bar $199.82 $195.82
2765014-0000 Galvanized Front Tube Spacer (Box Beam, 8" x 6" x 3/16") $37.61 $36.86
2752024-0000 1/2" Chain $88.16 $86.39
4720 Transition Plate $528.93 $518.35
4100 Replacement Cylinders (Specify material thickness) $2,303.80 $2,257.72
2765003-0000 Pin, Restraining, Cable, G $24.68 $24.19
2698021-0100 Bolt,Hx,1/4x2 1/2,G5,P $1.41 $1.38
2704232-0100 Nut,Hx,Lock, 1/4,G8,P $1.29 $1.27
4314 350.4 Top Cable (Old Unit) $599.46 $587.47
4316 350.6 Top Cable (Old Unit) $658.23 $645.06
4319 350.9 Top Cable (Old Unit) -31'3" $1,034.36 $1,013.67
4319 350 HS Top Cable (Old Unit) $1,034.36 $1,013.67
4309 350 HS Bottom Cable (Old Unit) $1,022.60 $1,002.15
2765019-0000 Weldment, Cable Anchor, Concrete, REACT $176.31 $172.78
3535002-0400 Front Base Track Assembly, 4 Cylinder Unit $11,848.10 $11,611.14
3535002-0600 Front Base Track Assembly, 6 Cylinder Unit $12,218.36 $11,973.99
3535002-0900 Front Base Track Assembly, 9 Cylinder Unit $12,588.61 $12,336.84
2765007-0000 Weldmnet, Rear Basetrack, SCBU $12,194.85 $11,950.95
2700371-0000 Bolt, Hex, 1/4 x 2 1/2, G2,G $0.65 $0.63
2765017-0000 Retainer, Tensioner $31.50 $30.87
2765016-0000 Standoff, Retainer, Tensioner $31.50 $30.87
3535010-0000 Cable Tensioner Aasembly, Right $340.87 $334.05
3535009-0000 Cable Tensioner Assembly, Left $340.87 $334.05
2701765-0000 Bolt, Cr 1/2 x 3 1/4, w/Ribbed Neck, G $3.29 $3.23
2704201-0000 Nut, Hex, 7/8, G $1.23 $1.21
2708301-0000 Washer, Flat, 7/8 x 2 1/4,G $0.76 $0.75
2708733-0000 Washer, Flat, 1 1/4 ID x 2 3/4 OD,G $1.00 $0.98
2708081-0000 Washer, Flat, 1/2 x 1 3/8, G $1.53 $1.50
2706996-0300 Screw, Pin, #8 x 1, Tapping, AB, S $0.29 $0.29
2708371-0300 Washer, Flat, #8,S $1.00 $0.98
2765025-0000 Wedge, 7 Wire Anchor, #6 $27.15 $26.61
2765026-0000 Ferrule, 7 Wire Anchor, #6 $61.71 $60.47
2708303-0000 Washer, Flat, 3/4 x 3 OD,G $5.70 $5.59
2708732-0000 Washer, Flat, 1 1/2 x3 OD,G $0.62 $0.61
2752171-0000 End Shoe, W-Beam $101.09 $99.06
3535008-0400 Chain/Cylinder Connector Assembly, 4 Cylinder $393.76 $385.89
3535008-0600 Chain/Cylinder Connector Assembly, 6 Cylinder $405.52 $397.41
3535008-0900 Chain/Cylinder Connector Assembly, 9 Cylinder $423.15 $414.68
2765013-0000 FTB ST 1/2 x 5 x 15, G $74.05 $72.57
2728806-0000 Shackle, Anchor, 5/8, w/screw pin $10.17 $9.96
2700171-0000 Bolt, Hex, 3/4 x 4 1/2, G2, G $3.35 $3.28
2700882-0000 Bolt, Hex, 3/4 x 3 1/2, G2, G $3.51 $3.44
2765031-0000 Weldment, Rear Base Track, Concrete $2,491.86 $2,442.03
2699941-0000 Stud, 3/4 x 8 1/2, G5,G $8.58 $8.41
3535043-0000 Miscellaneous Hardware $123.42 $120.95
2765046-0000 End Shoe Connector Plate $123.42 $120.95
2765044-0000 Rubrail Brace $92.86 $91.00
2698062-0000 Bolt $1.14 $1.12
2765032-0000 Bracket $13.22 $12.96
2699341-0000 Bolt Rail, 5/8 x 2,G $2.70 $2.65
3535048-0000 Transition Assy, SC BU, N React 350 with Rub Rail $1,428.12 $1,399.56

REACT 350 PARTS--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

11 



Transpo Industries Price List
  

Model/Part# Product/Description List Price/Each Net Price/Each

TMA9000 Safe-Stop TMA on a Trailer $22,377.78 $21,930.22
3526081-0000 Cartridge A $5,048.37 $4,947.41
3526082-0000 Cartridge B $5,324.59 $5,218.10
3526088-0000 Impact Frame Plate $265.64 $260.33

TMA9000LC TMA9000, Safe-Stop, Trailer, Less Cartridges  
3526900-0000 Support Frame Assy, SST $13,329.12 $13,062.54
3526901-0000 Lighting Assembly, SST $2,591.77 $2,539.94
3526902-0000 Hydraulic Assy, SST $4,356.65 $4,269.51
3526903-0000 Miscellaneous Hardware, SST $3,579.11 $3,507.53
3526904-0000 Decal/Tape Assy, TMA9000 $123.42 $120.95
2751108-1000 Manual, Dexter Axle $900.95 $882.93
2750127-0000 Installation Instruction, SST $0.00 $0.00
2735831-3500 Material Safety Information Notice $0.00 $0.00

3526900-0000 Support Frame Assembly, SST  
2751101-0000 Support Frame Backup, TMA9000 $2,468.36 $2,418.99
2724101-0000 Arm, Front, with Mount, 9182, PT $422.28 $413.83
2724103-0000 Arm, Rear, with Mount, 9182, PT $422.28 $413.83
2751100-0000 Support Frame, Mid, TMA9000 $3,085.44 $3,023.74
2724100-0000 Arm, Front, 9182, PT $293.85 $287.97
2724102-0000 Arm, Rear, 9182, PT $293.85 $287.97
2751814-0000 Impact Frame, 9181, PT $863.92 $846.65
2702541-0100 Pin, Clevis, 1 x 3 1/2, P $24.92 $24.42
2702151-0100 Pin, Cotter, 3/16 x 1 1/2, P $0.64 $0.63
2751106-0000 Hitch, Lunette Eye, ADJ, 3 I.D. $135.76 $133.04
2701114-0100 Bolt, Hex, 5/8 x 4 1/2, G8, P $3.17 $3.11
2704510-0100 Nut, Hex, Nylon Lock, 5/8, P $0.71 $0.69
2021443-0000 Tube, PU, 2 O.D. x 0.50 Wall x 3/8, with Holes $17.28 $16.93
2706842-0300 Screw, Flat, 10-32 x 1 1/4, Phillips, S $0.24 $0.23
2704460-0300 Nut, Hex, Nylon Lock, #10-32, S $0.24 $0.23
2702005-0100 Pin, Linch, 1/4 x 1 9/16, P $3.82 $3.74
2715152-0000 Cable, Lanyard, 1/16 x 8 $7.64 $7.49
2724243-0000 Jack, Swivel, 10 Lift, Top Wind $141.99 $139.15
2715811-0000 Bearing Protector, 1.98 Outside Diameter, B/B # 1980SS $31.27 $30.64
2715812-0000 Bearing Protector Bra, 1.98, B/B # 19B $3.70 $3.63
2724246-0000 Wheel, with Tire (Galvanized) $160.44 $157.23
3526907-0000 Spare Tire Carrier Assembly $308.54 $302.37
3526906-0000 Pintle Hook Assembly, SST $179.01 $175.43
2715417-0000 20 Ton Pintel Hook $172.78 $169.33

3526902-0000 Hydraulic Assembly, SST
2751111-0000 Bracket, Hydraulic, SST, PT $42.31 $41.47
2703012-1000 Hydraulic Cylinder $1,666.14 $1,632.82
2751113-0000 Bracket, Hydraulic, Tool, SST, PT $18.51 $18.14
2751112-0000 FTB ST 1 1/2 x 2 x 4, with Holes, Chamfers, PT $41.14 $40.32
2703011-0000 Rod End, Spherical, 1, RH $209.22 $205.04
2702541-0100 Pin, Clevis, 1 x 3 1/2, P $24.92 $24.42
2702004-0100 Pin, Clevis, 1 x 4, P $11.75 $11.52
2702511-0100 Pin, Hair, Cotter, 7/8 to 1" Shaft $1.06 $1.03
2700011-0100 Bolt, Hex, 3/4 x 2, G5, P $3.06 $3.00
2708201-0100 Washer, Lock, 3/4, P $1.30 $1.27
2704091-0100 Nut, Hex, 3/4, P $1.30 $1.27
2703008-0100 Elbow, # 6 M-JICX # 6 M-ORB, P $10.11 $9.91
2703009-0100 Tee, # 6 M-JICX # 6 M-ORBX # 6 M-JIC, P $16.46 $16.13
2703013-0028 Hose Assembly, Hydraulic, # 6 M Ends, 28 1/2 $37.61 $36.86
2703027-0000 Tank, Aluminum, 1 Gallon, with Gauge $229.20 $224.62
2703032-0100 Tee, # 6 M-JICX # 6 M-JICX 1/4 NPT, P $10.23 $10.03
2715273-0000 Strap, Cushioned Loop, 3/8 Outside Diameter, G $1.18 $1.15
2715274-0000 Strap, Cushioned Loop, 5/8, Outside Diameter, G $1.35 $1.32
2715275-0000 Strap, Cushioned Loop, 1, Outside Diameter, G $2.11 $2.07
2701971-0100 Bolt, Hex, 1/4 x 1, G2, P $0.29 $0.29
2708281-0100 Washer, Lock, 1/4, P $0.76 $0.75
2704151-0100 Nut, Hex, 1/4, P $0.53 $0.52
2706442-0100 Screw, HWH, 1/4 x 1, Self Drill/Tap, P $0.29 $0.29
2701601-0100 Bolt, Hex, 3/8 x 1 1/4, G2, P $1.30 $1.27
2708041-0100 Washer, Lock, 3/8, P $0.12 $0.12

2704031-0100 Nut, Hex, 3/8, P $0.53 $0.52
2703026-0019 Hose Assembly, Hydraulic, # 6 F JIC, # 6 F JIC 90 Degree, 19 $35.26 $34.56
2715011-0000 Grease Fitting, 1/4-28, STR $0.47 $0.46

SST TMA9000  Safe-Stop Trailer - Test Level 3 (100km/h)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

12 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

3526903-0000 Miscellaneous Hardware, SST
2751764-0000 Side Guide, Bay 2 $44.43 $43.54
2751765-0000 Side Guide, Bay 1 $55.60 $54.48
2742341-0000 Cable, 1/4 x 79, Stud with Thimble $61.71 $60.47
2742340-0000 Cable, 5/16 x 100, 5/8 Studs $117.54 $115.19
2742343-0000 Release Cable $357.91 $350.75
2751109-0000 Bracket Assembly, Cylinder Truck Mount, SST $222.15 $217.71
2751116-0000 License Plate Light Assembly $24.68 $24.19
2727318-0000 Hydraulic Cylinder Tool $185.13 $181.42
352690R-0000 Fender Assembly, Right $135.76 $133.04
352690L-0000 Fender Assembly, Left $135.76 $133.04
2715413-0000 Chain, 5/16, Grade 43, G $55.59 $54.48
2751117-0000 FTB ST 1/4 x 1 x 5 1/4, with Holes $1.94 $1.90
2751760-0000 Spacer 1/4 x 1 x 2 1/4, with Holes, PT $3.11 $3.05
2708011-0100 Washer, Flat, 1/2 x 1 3/8, P $1.00 $0.98
2715343-0000 Spring Die, 1 1/4 Outside Diameter x 5/8 x 1 1/2 $8.94 $8.76
2699100-0100 Bolt, Hex, 3/8 x 1, G5, P $0.29 $0.29
2708041-0100 Washer, Lock, 3/8, P $0.41 $0.41
2704031-0100 Nut, Hex, 3/8, P $0.53 $0.52
2702161-0100 Pin, Hitch, 1 x 4 1/4 with Snap Pin, P $23.45 $22.98
2708882-0300 Washer, Flat, # 10, S $0.29 $0.29
2704460-0300 Nut, Hex, Nylon Lock, # 10-32, S $0.24 $0.23
2706230-0300 Screw, Socket HD, # 10-32 x 3/4, S $0.76 $0.75
2708022-0100 Washer, Flat, 3/8 Inside Diameter x 13/16 Outside Diameter, P, HRD $0.41 $0.41
2715272-0000 Clevis Hook $24.68 $24.19
2724431-0000 Socket, Female, 7 Way $43.84 $42.96
2726821-0000 Fluid, Transmission, Dexron, Quart $6.76 $6.62
2702552-0100 Pin, Snap, RND Retainer, 1/4 x 1 3/4, P $5.88 $5.76

3526901-0000 Lighting Assembly, SST
2757950-0000 Lamp Assembly, 12 Volt, 2 x 13/16 Hole $152.80 $149.75
2757951-0000 Lamp Assembly, 12 Volt, 3 x 13/16 Hole $164.56 $161.27
2734031-0000 Light, Bar, ICC (#15741R) $26.57 $26.04
2734572-0000 Light, Clearance, 2 1/2, R (10202R) $4.76 $4.66
2757440-0000 Light, Sealed Clearance, 2 1/2, A $5.46 $5.35
2751115-0000 Junction Box Assembly, SST $264.47 $259.18
2757404-0000 Trailer Break-Away Kit $191.36 $187.53
2734641-0000 Grommet, Light, Side, # 10704 $2.99 $2.93
2700231-0100 Bolt, Hex, 5/16 x 3, G2, P $0.59 $0.58
2706442-0100 Screw, HWH, 1/4 x 1, Self Drill/Tap, P $0.29 $0.29
2734151-0000 Connector, 7 Way, with Spring $27.15 $26.61
2734671-0000 Plug, Side Light (# 94902) $2.35 $2.30
2757696-0000 Cable, 7 Conductor, GPT $2.30 $2.25
2757373-0000 Cable, 7 Conductor, 18 AWG $4.70 $4.61
2757382-0000 Cable, 2 Cond, 16 AWG, 0.37 Outside Diameter $1.35 $1.32
2757682-0000 Cable, 16 AWG, 4 Cond, 0.43 Outside Diameter $1.30 $1.27
2021062-0000 Wrap, Shrink, Adhesive Lined, 3/4 $1.94 $1.90
2021081-0000 Wrap, Shrink, 1/2 $0.64 $0.63
2020961-0000 Wrap, Shrink, 1/4 $0.24 $0.23
2755036-0000 Connector, Crimp, Butt, 12-10 & 16-14 $2.82 $2.76
2734381-0000 Connector, Crimp, Butt, 16-14 GA $1.06 $1.03
2757061-0000 Connector, Crimp, Spade, 16-14, # 8 $0.35 $0.34
2734231-0000 Connector, Crimp, 16-14 GA, 3/16 Stud $1.23 $1.21
2757702-0000 Connector, Crimp, Snap-Plug, F, 16-14 AWG, HS $2.76 $2.71
2734048-0000 Connector, Crimp, Spade, 12-10, # 8, Yellow $2.11 $2.07
2755413-0000 Jumper, 2 Pole, 3/8 Centers $0.41 $0.41
2795281-0000 Tie, Nylon, 3/16 x 8 $1.64 $1.61
2726281-0000 Tie, Nylon, 14, Black $2.47 $2.42
2734716-0000 Connector, Crimp, Spade, 22-16, # 6 $0.94 $0.92
2715411-0000 Pin, Quick Release, 3/8 x 5 3/4, with Lanyard $18.57 $18.20
2705112-0000 Rivet, AL, 3/16 x 3/8, LF $0.24 $0.23
2751107-0000 Lateral Frame, MidFrame, TMA9000 $197.47 $193.52
2518302-0000 STT ST 2 x 2 x 1/4 x 26 1/8 $32.09 $31.45
2518303-0000 PLT ST 1/2 x 4 x 5 3/4, with Hole $17.28 $16.93
2518304-0000 CHL ST 3 x 5 x 4 5/8, with Hole $13.63 $13.36
2500148-0000 CHL ST 3 x 5 x 2 1/4, with Hole $7.99 $7.83
2500116-0000 FLT ST 1/4 x 2 x 17 15/16 $9.87 $9.68
2500117-0000 FLT ST 1/4 x 2 x 27 7/8 $13.87 $13.59

SST TMA9000  Safe-Stop Trailer - Test Level 3 (100km/h)--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

13 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

2518305-0000 PLT ST 3/8 x 4 x 3 1/2, with Hole $10.46 $10.25
2518307-0000 CHL ST 3 x 5 x 26 3/4 $25.98 $25.46
2518306-0000 STT ST 2 x 2 x 3/16 x 26 1/8 $26.56 $26.03
2518308-0000 CHL ST 3 x 5 x 13 $14.81 $14.51
2517247-0000 ANG ST 2 x 2 x 3/8 x 1 1/2, with Hole $9.29 $9.10
2518312-0000 PLT ST 1/4 x 10 x 5, with Holes $18.57 $18.20
2518309-0000 ANG ST 1 1/2 x 1 1/2 x 1/4 x 2, with Hole $12.34 $12.09
2518310-0000 PLT ST 1/4 x 4 x 8, with Hole $12.93 $12.67
2517443-0000 Gusset, 3/16 x 2 x 2 $4.35 $4.26
2518314-0000 ANG ST 1 1/2 x 1 1/2 x 3/16 x 2 1/2 $4.35 $4.26
2518313-0000 FTB ST 3/16 x 1 1/2 x 2, with Hole $5.64 $5.53
2518315-0000 FTB ST 3/16 x 1 1/2 x 3/4, Shim $2.12 $2.07
2518325-0000 Gusset, 1/4 x 1 3/4 x 2 1/4 $11.40 $11.17

MB5-15 Trafcon MB5-15, 4' x 8' Arrowboard with LED Lighting and 30 ft. cord $2,448.00 $2,399.04
10ft cord 10ft Cord Retrofit $142.80 $139.94

3526852-0000 Mounting Assembly, Fixed Position, Arrowboard, SST $561.84 $550.61
3526846-0000 Mounting Assembly, Manual Tilt, Arrowboard, SST $1,116.64 $1,094.30
3526850-0000 Mounting Assembly, Automated Tilt, Arrowboard, SST $2,233.27 $2,188.61

3526842-0000 Mounting Assembly, Arrow Board, Universal, Upright, SST $432.55 $423.90
3526841-0000 Mounting Assembly, Arrow Board, Universal, Platform, SST $561.84 $550.61

3526130-0000 Adapter Kit, Hitch Extension $587.70 $575.95
3526853-0000 Hitch Adapter Assembly, SST $217.67 $213.31
3524004-0000 Plate Assy, Truck Hitch, SST $690.05 $676.53

 SAFE-STOP TMA9182 - Test Level 3 (100km/h)

Model/Part# Product/Description List Price/Each Net Price/Each

TMA9182 100K Safe-Stop, 180 deg. Tilt $16,174.14 $15,850.66
TMA9182QM 100K Safe-Stop, 180 deg. Tilt, with Quick Mount Attachment $16,997.28 $16,657.33

 SAFE-STOP TMA9182 OPTIONS

Model/Part# Product/Description

3524384-0000 TailGate Mount Assembly, TMA9181 $3,067.81 $3,006.46
3526022-0000 Attachment Assy, Interface, TMA9181QM $1,551.54 $1,520.51
3526004-0000 Retro-Fit Kit, TMA9181, Quick Mount $1,551.54 $1,520.51

*TailGate Mount Worksheet must be completed prior to order acceptance

 SAFE-STOP TMA9182, PARTS

Model/Part# Product/Description List Price/Each Net Price/Each

3526081-0000 Cartridge A Assy, TMA9181 $5,048.37 $4,947.41
3526082-0000 Cartridge B Assy, TMA9181 $5,324.59 $5,218.10
3526083-0000 Striping Assy, Cart-B, TMA9181 $123.42 $120.95
3526088-0000 Impact Frame Plate Assy, TMA9181 $265.64 $260.33
3524420-0000 Underride Assy, Receiver, TMA9181 $811.03 $794.81
3524996-0000 Underride Assy $740.07 $725.27
3524996-0900 Underride Assembly with 9" extension $794.49 $778.60
3524426-0022 Underride Extension Assembly, 22" $979.51 $959.92
3524121-0000 Bolt on Underride $670.42 $657.01
273336R-0900 Mount, Support, 9, R, w/Decal $408.13 $399.96

273336L-0900 Mount, Support, 9, L, w/Decal $408.13 $399.96

TMA9182LC 100K Safe-Stop, 180 Degree Tilt, Less Cartridges
3526087-0000 Attachment Assy, TMA9181 $717.00 $702.66
2750986-0000 Installation Instructions, TMA9182 $0.00 $0.00
2735831-2000 MSDS, TMA8290 Safe-Stop $0.00 $0.00
2724431-0000 Socket, Female, 7-Pin $43.84 $42.96
3526820-0000 Support Frame Assembly, 9182 $9,802.90 $9,606.84
3526191-0000 Support Frame Miscellaneous Hardware, TMA9181 $3,643.76 $3,570.89
3526804-0000 Control Box Assembly, Cab, 9182 $382.01 $374.37

SST TMA9000  Safe-Stop Trailer Test Level 3 (100km/h)--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

14 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

3526191-0000 Support Frame Miscellaneous Hardware, TMA9181
2724244-0000 Jack Assembly, 9182 $264.47 $259.18
2708011-0000 Washer, Flat, 1/2 Inside Diameter x 1 3/8 Outside Diameter, P $1.00 $0.98
2742341-0000 Cable, 1/4 x 79, Stud with Thimble $61.71 $60.47
2728803-0000 Shackle, Anchor, 1/4 $14.10 $13.82
2715344-0000 Spring Die, 1 1/4 OD x 9/16 x 1 1/2 $9.29 $9.10
2742343-0000 Release Cable Assy, 9180 $357.91 $350.75
2708041-0100 Washer, Lock, 3/8, P $0.41 $0.41
2704031-0100 Nut, Hex, 3/8, P $0.53 $0.52
2751764-0000 Side Guide, Bay 2, 9181, PT $44.43 $43.54
2751765-0000 Side Guide, Bay 1, 9181, PT $55.59 $54.48
2708314-0000 Washer, Bar, 1/2 x 1 x 6, PT $5.12 $5.01
2699491-0100 Bolt, Hex, 3/8 x 1 1/2, G5, P $1.23 $1.21
2708021-0100 Washer, Flat, 3/8 x 1, P $1.30 $1.27

3526820-0000 Support Frame Assembly, 9182
352682A-0000 Support Frame PreAssembly, 9182 $9,068.27 $8,886.90
3526800-0000 Lighting/Wiring Assembly, TMA9182 $1,245.93 $1,221.01
2795281-0000 Tie, Nylon, 3/16 x 8 $1.64 $1.61
2705101-0000 Rivet, ST, SD612BS, 3/16 x 3/4, DH $0.29 $0.29
2755223-0000 Switch Assembly, Control, 9182 $217.45 $213.10

3526806-0000 Hydraulic Assembly, 9182
3526807-0000 Hydraulic Pump Assembly, 9182 $2,086.35 $2,044.62
2703001-0000 Valve, Hydraulic, Counter Balance $307.96 $301.80
2715315-0000 Coupling, # 4 MORB X # 4 MJIC, P $2.23 $2.19
2703004-0100 Elbow, # 4 M-JICX # 6 M-ORB, P $11.75 $11.52
2715316-0100 Tee, # 4-JIC, P $9.16 $8.98
2699141-0100 Bolt, Hex, 1/4 x 1 3/4, G2, P $0.47 $0.46
2708003-0100 Washer, Flat, 1/4 x 5/8, P $0.41 $0.41
2704153-0100 Nut, Hex, Nylon Lock, 1/4, P $0.41 $0.41
2703003-0140 Hose Assembly, Hydraulic, M/F Ends, 140 $54.31 $53.22
2715329-0000 Hose Assembly, Hydraulic, 30, Pump, SUP $43.90 $43.03
2715319-0000 Hose Assembly, Hydraulic, 16, Cylinder Top $50.84 $49.82
2715335-0100 Elbow, # 4 M-JIC X # 4F-JIC-S, P $8.40 $8.23

3526807-0000 Hydraulic Pump Assembly, 9182
3526808-0000 Electrical Box, Hydraulic Pump $540.69 $529.87
2757857-0000 Buzzer, 6-28V, 80-95DB $148.10 $145.14
2715401-0000 Bracket, Pump, TMA9182, PT $8.05 $7.89
2701020-0000 Bolt, Hex, 3/8 x 3/4, G $0.24 $0.23
2708021-0100 Washer, Flat, 3/8 x 1, P $0.41 $0.41
2708041-0100 Washer, Lock, 3/8, P $0.12 $0.12
2701311-0100 Bolt, Hex, 3/8 x 3, G2, P $0.53 $0.52
2708601-0300 Washer, Lock, # 10, S $0.32 $0.31
2704861-0300 Nut, Hex, # 10-32, S $0.49 $0.48
2700971-0100 Bolt, Hex, 5/16 x 3/4, G2, P $1.23 $1.21
2708131-0100 Washer, Flat, 5/16 x 11/16, P $0.38 $0.37
2708171-0100 Washer, Lock, 5/16, P $0.49 $0.48
2704081-0100 Nut, Hex, 5/16, P $0.53 $0.52
2723671-0000 Pump, Marine GD, Vert, 12V $1,034.36 $1,013.67
2704243-0100 Nut, Hex, Lock, 3/8, GC, P $3.06 $3.00
2706812-0300 Screw, Socket HD, 10-32 x 1, S $0.32 $0.31
2020961-0000 Wrap, Shrink, 1/4 $0.24 $0.23

3526808-0000 Electrical Box, Hydraulic Pump $146.93 $143.99
2755224-0000 Enclosure, Compact, Nema 4X, 9 Holes $0.53 $0.52
2705181-0000 Rivet, Monobolt, 1/4 $8.64 $8.47
2757006-0000 Relief, Strain, M-PRF, 0.39-0.56, 1/2 NPT $7.99 $7.83
2755157-0000 Connection, Pump Solenoid $123.42 $120.95
2724902-0000 Cable, Power, 4 Ft., Quick End $317.36 $311.01
2724903-0000 Cable, Batter, 4 GA, 25 Ft., Quick End $3.38 $3.32
2755219-0000 Jumper, 16 GA, with Connectors $7.05 $6.91
2755222-0000 Cable, Buzzer & Ground, 9182 $50.89 $49.87
2755217-0000 Cable with Plug, Box, 9182 $76.52 $74.99
2755231-0000 Solenoid, Motor Starter, Pump, 12V $5.88 $5.76
2755112-0000 Wire, Green, Pump, Conn $6.41 $6.28
2755113-0000 Wire, White, Pump, Conn

SAFE-STOP TMA9182, PARTS- Test Level 3 (100km/h)--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

15 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

3524420-0000 Underride Assembly, Receiver, TMA
273337L-0000 Socket Receiver, Underride, L $190.42 $186.61
273337R-0000 Socket Receiver, Underride, R $190.42 $186.61
273336L-0000 Mount, Support, TMA, L $326.76 $320.23
273336R-0000 Mount, Support, TMA, R $326.76 $320.23
273355R-0000 Socket Receiver $217.67 $213.31
273355L-0000 Socket Receiver $217.67 $213.31
2702221-0100 Pin, Hitch, 1 x 6 1/4, with Snap Pin $21.86 $21.43
2509101-0000 Tube, Spacer $8.82 $8.64
2509111-0000 Splice, Spacer $6.35 $6.22
2733391-0000 Bracket, Lower Truck, with Holes $26.15 $25.63
2732221-0000 Paint Black, Enamel, Gloss, Spray $7.17 $7.03
2750531-0000 Install Instructions, Receiver Underride $0.00 $0.00
2732231-0000 Primer, Spray Can $7.17 $7.03

3526087-0000 Attachment Assembly, TMA9180
2751755-0000 Bracket, Support, Right, TMA9180, PT $197.47 $193.52
2751754-0000 Bracket, Support, Left, TMA9180, PT $197.47 $193.52
2702222-0100 Pin, Hitch, 1 1/4 x 7, P, with Hairpin Cotter $40.97 $40.15
2751752-0000 FLT ST 1/2 x 3 1/4 x 3 1/4, with Hole, PT $9.40 $9.22
2751753-0000 FLT ST 1/2 x 2 1/2 x 3 1/4, with Hole, PT $7.17 $7.03
2699541-0100 Bolt,Hex, 1 x 3 1/2, G8, P $10.23 $10.03
2704161-0400 Nut, Hex, 1, G8, P $1.88 $1.85
2708241-0000 Washer, Lock, 1, G $1.12 $1.10
2708191-0000 Washer, Flat, 1 x 2 1/2, G $2.59 $2.54
2508031-0000 Shim, 1/4 x 5 x 10, PT $6.58 $6.45
2508251-0000 Shim, 12 GA x 5 x 10, PT $4.88 $4.78

352682A-0000 Support Frame PreAssembly, 9182
2724104-0000 Backup, TMA9182, PT $1,345.84 $1,318.92
2724108-0000 Weldment, Front Int Frame, 9182, PT $528.93 $518.35
2724114-0000 Weldment, Rear Int Frame, 9181, PT $528.93 $518.35
2751814-0000 Impact Frame, 9181, PT $863.92 $846.65
2724100-0000 Arm, Front, 9182, PT $293.85 $287.97
2724102-0000 Arm, Rear, 9182, PT $293.85 $287.97
2724101-0000 Arm, Front, with Mount, 9182, PT $423.15 $414.68
2724103-0000 Arm, Rear, with Mount, 9182, PT $423.15 $414.68

3526806-0000 Hydraulic Assembly, 9182 $3,432.19 $3,363.55
3526805-0000 Hydraulic Cylinder Assembly, 9182 $1,057.87 $1,036.71
2742340-0000 Cable, 5/16 x 100, 5/8 Studs $117.54 $115.19
2724106-0000 Guard/Switch Mount, 9182, PT $57.98 $56.82
2724242-0000 Jack Bracket Assembly, SQ, 9182 $29.39 $28.80
2702541-0100 Pin, Clevis, 1 x 3 1/2, P $24.92 $24.42
2702151-0100 Pin, Cotter, 3/16 x 1 1/2, P $0.64 $0.63
2715402-0100 Pin, Hitch, 1 1/4 Outside Diameter x 7, without Handle, P $46.67 $45.73
2751761-0000 Spacer 1/2 x 3 x 4 1/2, with Holes, PT $5.29 $5.18
2021487-0000 Bumper, Rubber, 3 1/8 x 5 x 3.5H, 2 Holes $22.96 $22.50
2751760-0000 Spacer 1/4 x 1 x 2 1/4, with Holes, PT $3.11 $3.05
2708733-0000 Washer, Flat, 1 1/4 Inside Diameter x 2 3/4 Outside Diameter, G $1.00 $0.98
2701112-0100 Bolt, Hex, 1/4 x 2 3/4, G5, P $0.29 $0.29
2699100-0100 Bolt, Hex, 3/8 x 1, G5, P $0.29 $0.29
2701311-0100 Bolt, Hex, 3/8 x 3, G2, P $0.12 $0.12
2701374-0100 Bolt, Hex, 1/2 x 6, G5, P $2.47 $2.42
2699010-0100 Bolt, Hex, 1/2 x 2 3/4, G2, P $0.53 $0.52
2699008-0100 Bolt, Hex, 1/2 x 1 1/4, G5, P $0.53 $0.52
2708003-0100 Washer,  Flat, 1/4 x 5/8, P $0.41 $0.41
2708041-0100 Washer, Lock, 3/8, P $0.12 $0.12
2708022-0100 Washer, Flat, 3/8 Inside Diameter x 13/16 Outside Diameter, P, HRD $0.41 $0.41
2708181-0100 Washer, Lock, 1/2, P $0.17 $0.17
2708011-0100 Washer, Flat, 1/2 x 1 3/8, P $1.00 $0.98
2704153-0100 Nut, Hex, Nylon Lock, 1/4, P $0.41 $0.41
2704008-0100 Nut, Hex, Nylon Lock, 3/8, P $0.41 $0.41
2704031-0100 Nut, Hex, 3/8, P $0.53 $0.52
2704011-0100 Nut, Hex, 1/2, P $0.76 $0.75
2715011-0000 Grease Fitting, 1/4-28, STR $0.47 $0.46
2750089-0000 Decal, Release Cable Torque, 9180 $3.18 $3.11
2725381-0000 Decal, Caution, Stay Clear $1.94 $1.90
2735711-0000 Decal, Caution, All Products $3.70 $3.63
2735712-3200 Decal, Product, Safe-Stop 180 TMA $2.47 $2.42
2750471-0000 Decal, Use Energy Replacement Parts $1.23 $1.21
2750661-0000 Decal, Warning, Hands/Feet Clear $1.71 $1.67
2735512-0000 Decal, Safe-Stop 9182, Approved Opt Tests $4.58 $4.49
2712272-0000 Tape, Reflective, 1 1/2 Red/White $2.70 $2.65
2723008-0000 FLT ST 1/8 x 2 x 2, with Holes, PT $5.53 $5.42
2735018-0000 Decal, Switch, Unfold, Safe-Stop 180 $9.05 $8.87
2735017-0000 Decal, Switch, Fold, Safe-Stop 180 $9.05 $8.87
2735510-0000 Decal Caution, Switch Light, TMA9182 $4.58 $4.49
2750202-0000 Decal, Jack Placement $9.05 $8.87

SAFE-STOP TMA9182, PARTS- Test Level 3 (100km/h)--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

16 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

3526800-0000 Lighting/Wiring Assembly, TMA9182
352682L-0000 Lamp Assembly, Mid, Left, 12V, 9182 $152.80 $149.75
352682R-0000 Lamp Assembly, Mid, Right, 12V, 9182 $152.80 $149.75
352681L-0000 Lamp Assembly, Tail, Left, 12V, 9182 $148.10 $145.14
352681R-0000 Lamp Assembly, Tail, Right, 12V, 9182 $148.10 $145.14
3526096-0000 Light Bar Assembly, ICC, Mid, 12V, 9180 $64.65 $63.35
3526097-0000 Light Bar Assembly, ICC, Tail, 12V, 9180 $44.43 $43.54
2734572-0000 Light, Clearance, 2 1/2, R (10202R) $4.76 $4.66
2734641-0000 Grommet, Light, Side, #10704 $2.99 $2.93
2755213-0000 Wire Harness with 7 Pin Connector $79.93 $78.33
2755228-0000 Switch/Bracket Assembly, 9182 $70.52 $69.11
2755211-0000 Cable, Mid to Taillight, Right $44.43 $43.54
2755212-0000 Cable, Taillight Right to Left $38.20 $37.44
2755210-0000 Cable Assembly, Mid to Taillight, Left $44.43 $43.54
2755214-0000 Cable, Jumper to Light Switch $17.92 $17.57
2755215-0000 Diode Harness $0.00 $0.00
2755221-0000 Switch with Cable Assembly $82.69 $81.04
2021081-0000 Wrap, Shrink, 1/2 $0.64 $0.63
2755413-0000 Jumper, 2 Pole, 3/8 Center $0.41 $0.41
2021241-0000 Wrap, Shrink, 3/4 $0.29 $0.29
2755238-0000 Diode Harness, Large Connector $4.23 $4.15
2734753-0000 Diode, 3A, VR50 $0.41 $0.40
3526080-0000 Support Frame Assy, TMA9181 $9,990.96 $9,791.14
2751749-0000 Backup, TMA9181, PT $1,345.84 $1,318.92
2751728-0000 Weldment, Front Interface Frame, 9181, PT $320.89 $314.47
2751706-0000 Weldment, Rear Interface Frame, 9181, PT $308.54 $302.37
2751714-0000 Impact Frame, Wide, 9181 $431.96 $423.32
2751712-0000 Arm Weldment, Front, 9181, PT $148.10 $145.14
2751711-0000 Arm Weldment, Rear, 9181, PT (replaced by part # 2724100 & 2724102) $148.10 $145.14
3526093-0000 Hydraulic Pump Assy, TMA9181 $4,519.44 $4,429.05
3526084-0000 Hydraulic Cylinder Assy, TMA9181 $3,961.12 $3,881.90
2723003-0000 Cylinder, 2 1/2B, 12S, Welded $905.06 $886.96
2757003-0000 Valve, Solenoid w/Body, #4 SAE, NC, Poppet $320.89 $314.47
2757060-0000 Solenoid Wiring Assy, TMA9181 $32.09 $31.45
3526098-0000 Box/Wiring Assy, Hydraulic, TMA9181 $1,816.00 $1,779.68
2723002-0000 substitute with 272300M-0000 Pump, M-3541, Vert, 12 VDC, Marine Grade $1,774.86 $1,739.37
2755000-0000 Switch, Flow Control, TMA9181 $419.62 $411.23
2751755-0000 Bracket, Support, Right, TMA9181, PT $197.47 $193.52
2751754-0000 Bracket, Support, Left, TMA9181, PT $197.47 $193.52
3526095-0000 Control Box Assy, Cab, TMA9181 $387.88 $380.13
2757029-0000 Sensor Proximity, 30MM  $171.61 $168.18
2728244-0000 Glad Hand Hydraulic Cylinder  $722.88 $708.42
2700622-0100 Bolt, HX 3/8 X 8 ½, G8, P $3.06 $2.99
3526090-0000 Operator Box Wiring Assy. $478.87 $469.29
2757211-0000 Switch 22mm Emergency Stop $130.60 $127.99
3526201-0000 Rocker Switch $130.60 $127.99
2724121-0000 Cable, Battery, 25 ft, Quickend, Male, Black $103.12 $101.06
2724122-0000 Cable, Battery, 4 ft, Quickend, Female, Black $41.36 $40.53

Model/Part# Product/Description List Price/Each Net Price/Each

TMA8291 100K Safe-Stop, 90 deg. Tilt $14,662.50 $14,369.25
3524420-0000 Socket Hitch / Receiver Underride $811.03 $794.81
3524808-0000 Safe-Stop Cartridge Assy, #2 $4,760.40 $4,665.19
3524807-0000 Safe-Stop Cartridge Assy, #1 $4,325.50 $4,238.99
3524963-0000 Rear Plate Assy,w/ 4" Black Striping $199.82 $195.82

Model/Part# Product/Description List Price/Each Net Price/Each

3524384-0000 TailGate Mount Assembly, TMA8290 $3,067.81 $3,006.46
3526023-0000 Attachment Assy, Interface, TMA8290QM $1,528.03 $1,497.47
3526020-0000 Retro-Fit Kit, TMA8290, Quick Mount $1,528.03 $1,497.47

*TailGate Mount Worksheet must be completed prior to order acceptance

SAFE-STOP TMA8291- Test Level 3 (100km/h)

SAFE-STOP TMA9182, PARTS- Test Level 3 (100km/h)--(continued)

SAFE-STOP TMA8291 OPTIONS

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

17 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

TMA8291LC 100K Safe-Stop TMA, 90 Degree Tilt, Less Cartridges
3526057-0000 Attachment Assembly,TMA 8290 $611.21 $598.99
2750961-0000 Installation Instructions, TMA8290 $0.00 $0.00
2735831-2000 MSDS, TMA8290, Safe-Stop $0.00 $0.00
2724431-0000 Socket, Female, 7-Pin $43.84 $42.96
3526910-0000 Support Frame Assembly, 8291 $8,639.24 $8,466.46
3526091-1000 Support Frame Backup, Miscellaneous Hardware $3,344.03 $3,277.15
3524446-0000 Hydraulic Assembly, TMA 8290, 12V $5,518.54 $5,408.17
3524446-1000 Hydraulic Miscellaneous Hardware, TMA8290 $293.85 $287.97

3526091-1000 Support Frame Backup, Miscellaneous Hardware
2715164-0000 Jack Assy, 100K $352.62 $345.57
2728803-0000 Shackle, Anchor, 1/4 $15.05 $14.74
2742331-0000 Cable, 1/4 x 73, Stud & Thimble $61.71 $60.47
2715344-0000 Spring, Die, 1 1/4" ODx9/16"x1 1/2" $9.29 $9.10
2708011-0100 Washer, Flat, 1/2 x 1 3/8, P $1.00 $0.98
2517321-0000 FTB ST 1/4 x 2 x 24 3/4, with Holes, PT $9.64 $9.45
2706622-0100 Screw, Flat, 3/8 x 1 1/2, Hex Socket, P $1.06 $1.03
2751831-0000 Gusset, Corner, 8291, PT $29.39 $28.80
2751832-0000 Guide, Frame, 8291, PT $49.37 $48.38
2699491-0100 Bolt, Hex, 3/8 x 1 1/2, G5, P $1.23 $1.21
2708021-0100 Washer, Flat, 3/8 x 1, P $1.30 $1.27
2708041-0000 Washer, Lock, 3/8, P $0.41 $0.41
2704031-0100 Nut, Hex, 3/8, P $0.53 $0.52
2701361-0000 Bolt, Hex, 1/2 x 3, G2, P $3.11 $3.05
2708011-0000 Washer, Flat, 1/2 x 1 3/8, G $1.30 $1.27
2708181-0000 Washer, Lock, 1/2, G $0.76 $0.75
2704011-0000 Nut, Hex, 1/2, G $0.76 $0.75
2742348-0000 Release Cable Assembly, 8291 $334.99 $328.29

3524446-0000 Hydraulic Assembly, TMA8290, 12V
2724661-0000 Main Cylinder, 3B, 12S $611.21 $598.99
2726261-0100 Elbow, Street, 3/8 Male x 1/4 Female, P $11.51 $11.28
2733776-0100 Elbow, Male, 12/ x 3/8, P $15.63 $15.32
2724721-0100 Elbow, Street, 4 MP-4 FP, P $7.64 $7.49
2725661-0100 Tee, Branch, 1/4, Female, P $10.70 $10.48
3524666-0000 Pump, M631, 12V, with Cable & Connectors, SSTP $2,086.35 $2,044.62
2728441-0100 Elbow, 1/4 M x 1/4 NPT, P $8.35 $8.18
2724251-0200 Valve, Flow Control, 1/4, NPT $92.86 $91.00
2724672-0000 Hose Assembly, Hydraulic, 30 $36.32 $35.59
2724674-0000 Hose Assembly, Hydraulic, 36 $38.79 $38.01
2724673-0000 Hose Assembly, Hydraulic, 44 $45.37 $44.47
272342B-0000 Cable, Battery, 25 Ft. Quick End, (F) $282.10 $276.46
272342A-0000 Cable, Battery, 2 Ft. Quick End, (M) $53.48 $52.41
3524446-1000 Box/Switch/Wiring Assembly, Cab Control $293.85 $287.97
3524447-1000 Box/Switch/Wiring Assembly, Cab Control, with Cab Lowering $382.01 $374.37
3524663-0000 Box/Wiring Assembly, Control, Frame, SSTP $1,657.32 $1,624.18
2724771-0100 Reducer, Bushing, 1/2 M x 1/4 F, NTP, P $3.82 $3.74
2726821-0000 Fluid, Transmission, Dexron $6.76 $6.62
2725165-0100 Reducer, Bushing, 1/4 F x 3/8 M, P $1.94 $1.90

SAFE-STOP TMA8291 PARTS

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

18 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

3524420-0000 Underride Assembly, Receiver, TMA
273337L-0000 Socket Receiver, Underride, L $190.42 $186.61
273337R-0000 Socket Receiver, Underride, R $190.42 $186.61
273336L-0000 Mount, Support, TMA, L $197.47 $193.52
273336R-0000 Mount, Support, TMA, R $197.47 $193.52
2702221-0100 Pin, Hitch, 1 x 6 1/4, with Snap Pin $21.86 $21.43
2509101-0000 Tube, Spacer $8.82 $8.64
2509111-0000 Splice, Spacer $6.35 $6.22
2733391-0000 Bracket, Lower Truck, with Holes $26.15 $25.63
2732221-0000 Paint Black, Enamel, Gloss, Spray $7.17 $7.03
2750531-0000 Install Instructions, Receiver Underride $0.00 $0.00
2732231-0000 Primer, Spray Can $7.17 $7.03

3526057-0000 Attachment Assembly, TMA8290
2751755-0000 Bracket, Support, Right, TMA9180, PT $197.47 $193.52
2751754-0000 Bracket, Support, Left, TMA9180, PT $197.47 $193.52
2699541-0100 Bolt, Hex, 1 x 3 1/2, G8, P $10.23 $10.03
2704161-0400 Nut, Hex, 1, G8, P $1.88 $1.85
2708241-0000 Washer, Lock, 1, G $1.12 $1.10
2708191-0000 Washer, Flat, 1 x 2 1/2, G $2.59 $2.54
2702222-0100 Pin, Hitch, 1 1/4 x 7, P, with Hairpin Cotter $40.97 $40.15
2508031-0000 Shim, 1/4 x 5 x 10, PT $6.58 $6.45
2508251-0000 Shim, 12 GA x 5 x 10, PT $4.88 $4.78
2745081-0000 Restraint, Support Frame Backup, SSTP $21.63 $21.19
2728804-0000 Clevis Link, Double, 5/16 $12.22 $11.98

352691A-0000 Support Frame Pre-Assembly, 8291
2745120-0000 Safe-Stop, Frame, Backup, Support, with Decals $1,557.41 $1,526.27
2745121-0000 Safe-Stop, Frame, Front, PT $2,086.35 $2,044.62
2751826-0000 Arm, Front, with Support, 8291, PT $329.11 $322.53
2751825-0000 Arm, Front, 8291, PT $323.24 $316.77
2751821-0000 Safe-Stop, Frame, Middle, PT $717.00 $702.66
2751824-0000 Arm, Rear with Support, 8291, PT $340.87 $334.05
2751823-0000 Arm, Rear, 8291, PT $282.10 $276.46
2751822-0000 Safe-Stop, Frame, Rear, PT $1,093.13 $1,071.27
2742330-0000 Cable, 5/16 x 81 1/2, 5/8 Stud Ends $89.80 $88.00
2745074-0000 Weldment, Jack Mount, Safe-Stop, PT $24.22 $23.73
2702541-0100 Pin, Clevis, 1 x 3 1/2, P $24.92 $24.42
2702151-0100 Pin, Cotter, 3/16 x 1 1/2, P $0.64 $0.63
2702223-0100 Pin, Axle, 1 1/2 x 9, P $61.12 $59.90
2708732-0100 Washer, Flat, 1 1/2 SAE, P $0.62 $0.61
2702031-0300 Pin, Cotter, 1/4 x 2 1/2, S $1.94 $1.90
2715011-0000 Grease Fitting, 1/4-28, STR $0.47 $0.46
2723303-0000 Bracket, Lamp, Clearance, TMA8290, PT $38.20 $37.44
2723304-0000 Bracket, Light, Front, TMA8290, PT $39.50 $38.71
2706442-0100 Screw, HWH, 1/4 x 1, Self Drill/Tap, P $0.29 $0.29
2715343-0000 Spring, Die, 1 1/4 Outside Diameter x 5/8 x 1 1/2 $8.94 $8.76
2714964-0000 Spacer, Spring, 1 1/2 Outside Diameter x 1 1/8, PT $1.47 $1.44
2708431-0000 Washer, Flat, 3/4 x 1 1/2, G $0.64 $0.63
2725381-0000 Decal, Caution, Stay Clear $1.94 $1.90
2750441-0000 Decal, Release Cable Torque, SS $3.18 $3.11
2750440-0000 Decal, SS 8291, Approved Opt Tests $3.65 $3.57
2745079-0000 Plate, Backing, Jack Mount, Safe-Stop, PT $6.58 $6.45
2700921-0100 Bolt, Hex, 3/8 x 5, G5, P $0.94 $0.92
2708041-0100 Washer, Lock, 3/8, P $0.12 $0.12
2704031-0100 Nut, Hex, 3/8, P $0.53 $0.52
2751832-0000 Side Guide $37.03 $36.28
3524503-0000 Lighting&Wiring Assembly, TMA 8290 $611.21 $598.99
3524665-0000 Limit Switch w/ Cable & Connectors $282.10 $276.46
3526051-0000 Support Fram Back up, Pivot Arm Assy. $5,518.54 $5,408.17
2745075-0000 Support Frame Back-up $1,163.65 $1,140.38
2700622-0100 Bolt, 3/8" x 8 1/2", G8, Trigger Bolts $3.06 $2.99
2708652-0000 Washer Bar, 1/4" x 1" x 3/4" $3.06 $2.99
2704243-0100 Lock Nut, 3/8" $3.06 $2.99
2742330-0000 Cable, 5/16"x81 1/2", 5/8" Stud Ends $89.80 $88.01
2715331-0000 Chain 40#, 53 Links $29.97 $29.37
2726636-0001 Breather Cap, Safe-Stop $9.40 $9.22
2715345-0000 Safe-Stop Jack Assembly $383.18 $375.52
2742331-0000 Cable, 1/4" x 73", Stud End & Thimble $61.71 $60.47
TMA8290TBA Trigger Bolt Assembly $98.73 $96.76
2723304-0000 Bracket, Light, Front, TMA8290, PT $39.50 $38.71
2757896-0000 Time Relay 8290  $185.71 $182.00
2728134-0000 Valve, Solenoid, W/Body, NC Poppet  $152.80 $149.75
2723437-0000 Valve Williams Pump  $193.94 $190.06
2723438-0000 Valve #2 Williams Pump  $129.29 $126.71
2755241-0000 Switch, Rocker, 12VDC  $26.45 $25.92
3524667-0000 Solenoid Valve Wiring Assy., S-S $320.89 $314.47
3526006-0000 Proximity Sensor, Retrofit Kit $223.11 $218.65

SAFE-STOP TMA8291 PARTS--Test Level 3 (100km/h)--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

19 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

TMA7190 Alpha 70K TMA, 90 Degree Tilt, Mechanical Lock $9,690.00 $9,496.20
3524804-0000 Cartridge Assembly, 350DX,  Aluminum Cartidge with Durashell Nose, Jack, 

Rear Chevron, Taillights and ICC Bar. $8,169.08 $8,005.70
 

TMA7190LC Alpha 70K TMA, 90 Degree Tilt, Mechanical Lock, Less Cartridge
2724431-0000 Socket, Female, 7-Pin $43.84 $42.97
2724901-0000 Socket, Female, 4-Pin $31.74 $31.10
352395A-0000 Backup & Support Preassembly, TMA2190 $4,936.71 $4,837.98
3523950-0000 Backup Assembly, with Wiring, TMA2190 $916.82 $898.48
352393A-0000 Support Frame Preassembly, TMA2190 $846.29 $829.37
3523930-0000 Strut / Support Frame Assembly $1,821.88 $1,785.44
352392B-0000 Hydraulic Preassembly, 2190 $2,415.46 $2,367.15
352392A-0000 Hydraulic Miscellaneous Parts, Mechanical Lock $35.26 $34.56
3523920-0000 Hydraulic Assembly90 deg.  $1,316.46 $1,290.13
352393B-0000 Attachment Assembly, Mechanical Lock $1,057.87 $1,036.71
3523290-0000 Underride Frame Assembly, TMA, 1" Connection $669.98 $656.58
2724230-0000 Jack Assembly, HD, Backup, TMA $211.57 $207.34
2750701-0000 Install Instructions, TMA7190 $0.00 $0.00
2735831-1000 MSDS, TMA, Alpha $0.00 $0.00

3523290-0000 Underride Frame Assembly, TMA
2725311-0000 Angle, 4 x 3 x 3/8 x 48 Long $76.40 $74.87
2725312-0000 Channel, 6 x 10.5 x 36 Long $57.01 $55.87
2725313-0000 FTB ST 1/4 x 4 x 25 $17.16 $16.82
2700011-0000 Bolt, Hex, 3/4 x 2, G5, G $3.06 $2.99
2704091-0000 Nut, Hex, 3/4, G $1.29 $1.27
2708201-0000 Washer, Lock, 3/4, G $1.29 $1.27
2708081-0000 Washer, Flat, 3/4 x 2, G $1.53 $1.50
2501651-0000 Support, Upper Frame, 1" Connection $135.17 $132.47
2725051-0000 Gusset, 1/4 x 2 x 4 5/8 $3.23 $3.17
2732231-0000 Primer, Spray Can $7.17 $7.03
2732221-0000 Paint, Black, Enamel, Gloss, Spray $7.17 $7.03

352393A-0000 Support Frame Pre-Assembly, Mechanical Lock
2728291-0000 Support Frame, Mechanical Lock $493.67 $483.80
2702241-0100 Pin, Clevis, 1 x 6, P $7.76 $7.60
2728401-0000 Brace, Support, Mechanical Lock $61.71 $60.47
2728411-0000 Release, Support Brace $129.29 $126.71
2728461-0100 Chain Link, Open End $2.00 $1.96
2701601-0100 Bolt, Hex, 3/8 x 1 1/4, G2, P $15.87 $15.55
2704031-0100 Nut, Hex, 3/8, P $0.53 $0.52
2708041-0100 Washer, Lock, 3/8, P $0.12 $0.12
2702251-0100 Pin, Clevis, 3/4 x 3 3/4, P $3.58 $3.51
2702271-0100 Pin, Rue Ring Cotter, 1, P $1.00 $0.98
2702281-0100 Pin, Cotter, 1/8 x 1 1/2, P $0.06 $0.06
2725381-0000 Decal, Caution, Stay Clear $1.94 $1.90

352393B-0000 Attachment Assembly, Mechanical Lock
2501641-0000 Bracket, Attachment, Support Frame $26.68 $26.15
2723711-0000 Bracket, Lower Truck, with 1 1/16 Holes $26.45 $25.92
3523001-0000 Strut, Flex, Mechanical Lock, Assembly, 70K TMA $323.24 $316.77
2723151-0000 Shim, 1/2, with 2 Holes $20.28 $19.87
2700841-0100 Bolt, Hex, 1 x 3, G5, P $7.64 $7.49
2700651-0000 Bolt, Hex, 3/4 x 4, G5, All Thread $3.82 $3.74
2704091-0000 Nut, Hex, 3/4, G $1.29 $1.27
2704161-0100 Nut, Hex, 1, P $2.06 $2.02
2708201-0000 Washer, Lock, 3/4, G $1.29 $1.27
2708241-0000 Washer, Lock, 1, G $1.12 $1.09
2702161-0100 Pin, Hitch, 1 x 4 1/4 with Snap Pin, P $23.45 $22.98
2723141-0000 Shim, 1/4, with 2 Holes $4.64 $4.55
2699251-0100 Bolt, Hex, 3/4 x 3 1/2, G5, P $4.17 $4.09
2704091-0100 Nut, Hex, 3/4, P $0.59 $0.58
2708191-0000 Washer, Flat, 1 x 2 1/2, G $2.59 $2.53

352392A-0000 Hydraulic Assembly, Miscellaneous Parts, Mechanical Lock
2728501-0000 Vent Cap, Plastic Reservoir, M-259 $12.11 $11.86
2726821-0000 Fluid, Transmission, Dexron $6.76 $6.62
2725871-0000 Decal, Caution, Switch $1.88 $1.84
2734731-0000 Connector, 2-Way $8.87 $8.70

Alpha 70K Truck Mounted Attenuator- Test Level 2 (70km/h)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

20 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

352392B-0000 Hydraulic Pre-Assembly, 2190, 12V
2724251-0200 Valve, Flow Control, 1/4 NPT $92.86 $91.00
2755761-0000 Cable, Battery, 2 GA, 48 3/8 Ends $29.86 $29.26
2724674-0000 Hose, Hydraulic, 36 $38.79 $38.01
2724661-0000 Cylinder, 3B, 12S $611.21 $598.99
2724771-0100 Reducer, Bushing, 1/2 x 1/4 NPT, P $3.82 $3.74
272342B-0000 Cable, Battery, 25 Ft., Quick End, Female $282.10 $276.46
272342A-0000 Cable, Battery, 2 Ft., Quick End, Male $53.48 $52.41
2726571-0000 Breather, Cylinder, 1/2 (#9833K11) $9.76 $9.56
2728452-0000 Shroud, Pump, 100K $64.65 $63.35
2702191-0100 Pin, Grooved, Headless, 1 x 3 3/8 Effective Length $9.11 $8.93
2702511-0100 Pin, Hair, Cotter, 7/8 x 1, Shaft, P $1.06 $1.04
2728431-0000 Pump, M-259 $1,081.37 $1,059.75
2728432-0000 Pump reservoir - plastic F/M259 pump $117.54 $115.19
2726581-0000 Switch, Pump, 1 Button, with 6' Cord, M-259 $282.10 $276.46
2728441-0100 Elbow, 1/4 M x 1/4 M, NPT, P $8.35 $8.18
2700971-0100 Bolt, Hex, 5/16 x 3/4, G2, P $1.23 $1.21
2708221-0000 Washer, Flat, 5/16 x 7/8, G $0.41 $0.40
2700361-0100 Bolt, Hex, 1/4 x 1 1/4, G2, P $0.32 $0.31
2702261-0100 Pin, Clevis, 1 x 4 1/2, P $8.52 $8.35
2702271-0100 Pin, Rue Ring Cotter, 1, P $1.00 $0.98
2708171-0000 Washer, Lock, 5/16, G $0.12 $0.12
2725871-0000 Decal, Caution, Switch $1.88 $1.84
2725971-0000 Plug, 3/8 NPT $0.71 $0.69
2704751-0100 Nut, Wing, 1/4, Type A or B, P $0.18 $0.17
3524651-0000 Switch Assembly, Push Button, Cab, 30 $90.51 $88.70
2734231-0000 Connector, Crimp, 16-14GA, 3/16, Stud $1.23 $1.21

TMA7590 Alpha 70K TMA, 90 Degree Tilt, Hydraulic Lock $14,904.82 $14,606.72
3524804-0000 Cartridge Assembly, 350DX,  Aluminum Cartidge with Durashell Nose, Jack, 

Rear Chevron, Taillights and ICC Bar. $8,169.08 $8,005.70

TMA7590LC Alpha 70K TMA, 90 Degree Tilt, Hydraulic Lock, Less Cartridge
2724431-0000 Socket, Female, 7-Pin $43.84 $42.97
2724901-0000 Socket, Female, 4-Pin $31.74 $31.10
352315A-0000 Backup & Support Preassembly, TMA2590 $8,662.75 $8,489.50
352331A-0000 Support Frame, Pre-Assembly, TMA2590 $1,093.13 $1,071.27
3523310-0100 Support Frame Assembly $1,128.39 $1,105.82
3523150-0000 Backup Assembly, TMA2590, with Wiring $1,210.67 $1,186.46
352322B-0000 Hydraulic Pre-Assembly, 90 Tilt $5,448.01 $5,339.05
2702221-0000 Pin, Hitch, 1 x 6 1/4, with Snap Pin $22.80 $22.35
352322A-0000 Hydraulic Assembly, Miscellaneous Parts, 90 Tilt $15.87 $15.55
352331B-0000 Attachment Assembly, TMA2590 $999.10 $979.11
3523290-0000 Underride Frame Assembly, TMA, 1" Connection $669.98 $656.58
2724230-0000 Jack Assembly, HD Backup, TMA $211.57 $207.34
2750711-0000 Install Instructions, TMA7590 $0.00 $0.00
2735831-1000 MSDS, TMA, Alpha $0.00 $0.00

3523290-0000 Underride Frame Assembly, TMA
2725311-0000 Angle, 4 x 3 x 3/8 x 48 Long $669.98 $656.58
2725312-0000 Channel, 6 x 10.5 x 36 Long $76.40 $74.87
2725313-0000 FTB ST 1/4 x 4 x 25 $57.01 $55.87
2700011-0000 Bolt, Hex, 3/4 x 2, G5, G $17.16 $16.82
2704091-0000 Nut, Hex, 3/4, G $3.06 $2.99
2708201-0000 Washer, Lock, 3/4, G $1.29 $1.27
2708081-0000 Washer, Flat, 3/4 x 2, G $1.29 $1.27
2501651-0000 Support, Upper Frame, 1" Connection $1.53 $1.50
2725051-0000 Gusset, 1/4 x 2 x 4 5/8 $135.17 $132.47
2732231-0000 Primer, Spray Can $3.23 $3.17
2732221-0000 Paint, Black, Enamel, Gloss, Spray $7.17 $7.03

$7.17 $7.03
2724230-0000 TMA Jack Assembly, HD Backup, TMA
2724231-0000 Jack, Swivel, 500 lb. $203.35 $199.28
2724232-0000 Jack, Flange with Snap Ring $26.68 $26.15
2701221-0100 Bolt, Hex, 3/8 x 1, G2, P $0.24 $0.23
2704031-0100 Nut, Hex, 3/8, P $0.53 $0.52
2708041-0100 Washer, Lock, 3/8, P $0.12 $0.12

352331A-0000 Support Frame, Pre-Assembly, TMA2590
2723871-0000 Frame, Support, TMA 2500 Series $1,087.25 $1,065.51
2702260-0100 Pin, Clevis, 1 x 4 1/2, P, with Ring Cotter $9.29 $9.10
2725381-0000 Decal, Caution, Stay Clear $1.94 $1.90

Alpha 70K Truck Mounted Attenuator- Test Level 2 (70km/h)--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

21 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

352331B-0000 Attachment Assembly, TMA2590
2501641-0000 Bracket, Attachment, Support Frame $26.68 $26.15
2723711-0000 Bracket, Lower Truck, with 1 1/6 Holes $26.45 $25.92
3523000-0000 Strut, Flex, Hydraulic Lock Assembly, 70K $334.99 $328.29
2723151-0000 Shim, 1/2, with 2 Holes $20.28 $19.87
2700841-0100 Bolt, Hex, 1 x 3, G5, P $7.64 $7.49
2700651-0000 Bolt, Hex, 3/4 x 4, G5, G, All Thread $3.82 $3.74
2704091-0000 Nut, Hex, 3/4, G $1.29 $1.27
2704161-0100 Nut, Hex, 1, P $2.06 $2.02
2708201-0000 Washer, Lock, 3/4, G $1.29 $1.27
2708241-0000 Washer, Lock, 1, G $1.12 $1.09
2702161-0100 Pin, Hitch, 1 x 4 1/4 with Snap Pin $23.45 $22.98
2708081-0000 Washer, Flat, 3/4 x 2, Heavy G $1.53 $1.50
2708191-0000 Washer, Flat, 1 x 2 1/2, G $2.59 $2.53
2723141-0000 Shim, 1/4, with 2 Holes $4.64 $4.55
2699251-0100 Bolt, Hex, 3/4 x 3 1/2, G5, P $4.17 $4.09
2704091-0100 Nut, Hex, 3/4, P $0.59 $0.58

352322B-0000 Hydraulic Pre-Assembly, 90 Degree Tilt
2723430-0000 Pump with Sequencing Valve Assembly $1,410.49 $1,382.28
2723431-0000 Pump Motor $528.93 $518.35
2723432-0000 Valve, Sequence, Block with Check Valve $1,528.03 $1,497.47
2723441-0000 Switch, Pump, 2 Buttons, with 8 Ft. Cord $246.84 $241.90
2724251-0200 Valve, Flow Control, 1/4 NPT $92.86 $91.00
3523120-0000 Pump Shroud Assembly $47.37 $46.42
2723181-0000 Shroud, Pump, Shell $39.79 $38.99
2701601-0100 Bolt, Hex, 3/8 x 1 1/4, G2, P $1.59 $1.56
2708041-0000 Washer, Lock, 3/8, G $0.12 $0.12
2701221-0100 Bolt, Hex, 3/8 x 1, G2, P $0.24 $0.23
2700971-0100 Bolt, Hex, 5/16, x 3/4, G2, P $1.23 $1.21
2704081-0100 Nut, Hex, 5/16, P $0.53 $0.52
2708221-0000 Washer, Flat, 5/16 x 7/8, G $0.41 $0.40
2708171-0000 Washer, Lock, 5/16, G $0.49 $0.48
2728011-0000 Strap, Pump Shroud Support $4.64 $4.55
2724721-0100 Elbow, Street, 4MP-4FP, P $9.58 $9.39
2724674-0000 Hose, Hydraulic, 36 $38.79 $38.01
2728441-0100 Elbow, 1/4 M x 1/4 M, NPT, P $8.35 $8.18
2723191-0100 Elbow, Street, 1/4 NPT, 45, P $6.93 $6.80
2724673-0000 Hose, Hydraulic, 44 $45.37 $44.46
2723201-0100 Adpater, SAE-4 with O-Ring-1/4 NPT-F $5.17 $5.07
3522180-0000 Support Assembly, Hydraulic Cylinder $65.82 $64.51
2725361-0000 Strap, Support, 1 x 20 $65.12 $63.82
2700691-0100 Bolt, Hex, 5/16 x 1 1/4, G2, P $0.24 $0.23
2704081-0100 Nut, Hex, 5/16, P $0.53 $0.52
2708171-0000 Washer, Lock, 5/16, G $0.49 $0.48
2735301-0000 Decal, Caution, Switch, 5 Sec Lock $6.35 $6.22
2726981-0000 Cylinder, 1 1/4 x 4 $317.36 $311.01
2724661-0000 Cylinder, 3B, 12S $611.21 $598.99
2724771-0100 Reducer, Bushing, 1/2 x 1/4 NPT, P $3.82 $3.74
2726281-0000 Tie, Nylon, 14 $2.47 $2.42
2701221-0100 Bolt, Hex, 3/8 x 1, G2, P $0.88 $0.86
2708041-0000 Washer, Lock, 3/8, G $0.41 $0.40
2708021-0000 Washer, Flat, 3/8 x 1, G $1.29 $1.27
272342B-0000 Cable, Battery, 25 Ft., Quick End, Female $282.10 $276.46
272342A-0000 Cable, Battery, 25 Ft., Quick End, Male $53.48 $52.41
2726571-0000 Breather, Cylinder, 1/2 $9.76 $9.56
2723211-0100 Pipe Tee, 1/4 NPT, Male BR, 4FP, 4FP, 4MP $12.93 $12.67
2725971-0000 Plug, 3/8 NPT (for 3/4 use P/N 2733911) $0.71 $0.69
2700361-0100 Bolt, Hex, 1/4 x 1 1/4, G2, P $0.76 $0.75
2704151-0100 Nut, Hex. 1/4, P $0.53 $0.52
2708281-0100 Washer, Lock, 1/4, P $0.76 $0.75
2755761-0000 Cable, Battery, 2 GA, 48, 3/8 Ends $29.86 $29.26
2704751-0100 Nut, Wing, 1/4, Type A or B, P $0.29 $0.29
3524651-0000 Switch Assembly, Push Button, Cab, 30 $90.51 $88.70
2702191-0100 Pin, Grooved, Headless, 1 x 3 3/8 Effective Length $9.40 $9.22
2702511-0100 Pin, Hair, Cotter, 7/8 to 1 Shaft, P $1.06 $1.04

352322A-0000 Hydraulic Assembly, Miscellaneous Parts, 90 Degree Tilt
2735301-0000 Decal, Caution, Switch, 5 Sec Lock $6.35 $6.22
2726281-0000 Tie, Nylon, 14 $2.47 $2.42
2734731-0000 Connector, 2 Way $8.87 $8.70
2723434-0000 Breather Cap (comes with Pump) $26.68 $26.15

Alpha 70K Truck Mounted Attenuator- Test Level 2 (70km/h)--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

22 



Transpo Industries Price List

Model/Part# Product/Description List Price/Each Net Price/Each

2725911-0000 Jack steel wheel F/TMA Cartridge $176.31 $172.78
(used on Alpha 1000 & Hex-foam)

2728321-0000 Jack steel wheel F/2001 TMA Cartridge $164.56 $161.27
(replaces 2503311-0000)

3523101-0000 Interface frame to convert a H.F. to Alpha $470.16 $460.76
3523860-0000 Rear Cartridge (A & B section), Durashell $6,464.74 $6,335.44

nose, Jack, Taillight and ICC bar.
3523870-0000 Complete Durashell Nose W/Taillight(L & R), $1,657.32 $1,624.18

(Section A)
3523780-0000 Front Cartridge Assy. - W/O Durashell nose, $3,514.47 $3,444.18

Taillight and ICC bar. (Section C)
3523800-0000 Rear Cartridge Section W/O Durashell nose, $4,813.29 $4,717.03

Jack, Taillight or ICC bar. (Section B)
202130(R/L)-0000 Durashell Nose, Left or Right $822.79 $806.33
2723441-0000 Switch, Pump, 2-buttons W/8ft. cord $246.84 $241.90
TMARFSS TMA Hardware, SS, W/jacks, Hydraulics $8,792.05 $8,616.20

and new underride.
TMARPSS TMA Hardware, SS, w/jacks to retro-fit $8,086.80 $7,925.07

w/ existing TMA2590
352603E-0000 Cab lowering switch Retrofit kit $905.06 $886.96
2726636-0000 Pump Motor, M-319, Monarch, Vert., 12V $1,116.64 $1,094.30
2715164-0000 Jack Assy., 100K $352.62 $345.57
3523991-0000 Jack, 750lb(To replace Part # 2715161-0000 750 lb. Jack) $270.34 $264.94
2723792-0000 Steel Wheel, 6" x 2", for above Jack $53.48 $52.41
2745044-0000 Lower Bracket, 100K $282.10 $276.46
2714591-0000 Turnbuckle Jaw, 3/8 x 6 $67.00 $65.66
2742327-0000 Cable, 5/16 x 29, Thimble both ends $35.26 $34.56
2742326-0000 Cable, 5/16 x 80 5/8,Stud & Thimble $123.42 $120.95
3524803-0000 Cartridge, Aux.1 (1 req./unit) $4,913.20 $4,814.94
3524805-0000 Cartridge, Aux.2 (4 req./unit) $493.67 $483.80
3524421-0000 Underride Assembly, Receiver, 7" $987.34 $967.60

TAILGATE MOUNTED UNITS
3524390-0000 Underride Frame Assy., Tailgate $340.87 $334.05

(Truck dimensions necessary to ensure
  proper fit.)

3524383-0000 Tailgate Mount Assy, Dual Wheel $2,515.37 $2,465.06

 TRITON WATERFILLED BARRIER 

Model/Part# Product/Description List Price/Each Net Price/Each

Temporary Impact Attenuator Gating Test Level 2 (70km/h) and Test Level 3 (100km/h)
Waterfilled Barrier

3595020-0000 Triton Barrier Section Assembly TL-2 (6-1/2 ft. section) WHITE $752.26 $737.22
3595020-0100 Triton Barrier Section Assembly TL-2 (6-1/2 ft. section) ORANGE $752.26 $737.22

3595351-0000 Triton Pedestals(TL-3 KIT) $123.42 $120.95

Triton Barrier Parts

2795481-0000 Pin, Connecting, Triton (included in Triton Section Assembly) $77.58 $76.03
2795081-0000 Valve,Gate,Quick Release (included in Triton Section Assembly) $31.74 $31.10
2795071-0000 Cable, Tension, Triton (included in Triton Section Assembly) $64.65 $63.35
2021402-0000 Plug/Cap, Plastic, 5", w/Hole (included in Triton Section Assembly) $4.82 $4.72
2795281-0000 Nylon Tie $1.65 $1.61
3595220-0000 Transition Assy, Triton to Concrete Medium Barrier $1,357.60 $1,330.44
3595200-0000 Transition Assy, Triton to W-Beam Guardrail $1,516.28 $1,485.95
3595210-0000 Transition Assy, Tri-to-ThrieBeam Guardrail $1,457.50 $1,428.35
2727231-0000 Triton Pin Removing Tool - Long (1/2" x 5" x 12") $33.50 $32.83
2727241-0000 Triton Pin Removing Tool - Short (1/2" x 5" x 6") $26.68 $26.15
3595500-0000 Triton Concrete End Treatment, PCMB $2,903.26 $2,845.19

(does not include required 6 sections of Triton)
3595400-0000 Triton Concrete End Treatment, Quebec, PCMB $2,903.26 $2,845.19

(does not include required 6 sections of Triton)

 VULCAN BARRIER 

Model/Part# Product/Description List Price/Each Net Price/Each

3596000-0000 Vulcan Barrier (4.1 Meter Section = 13.5 Foot Section) $3,526.22 $3,455.70
3596003-0000 Jack Assembly, Vulcan (need 2 per each section of Vulcan) $470.16 $460.76
2796008-0000 Pin, Connecting, Vulcan $123.42 $120.95
3596008-0000 Transition Assembly, Vulcan to PCMB $4,701.63 $4,607.60
3596005-0000 Vulcan Hinge $2,233.27 $2,188.61
3596006-0000 Hinge Pin, Vulcan $123.42 $120.95
2796007-0000 Spacer, Vulcan $58.77 $57.59
2796029-0000 Stiffener, Removable, Vulcan-PCMB Trans $58.77 $57.59
2796030-0000 Transition, Weldment, G, Vulcan-PCMB $3,861.21 $3,783.99
VG-4000 Vulcan Gate -- 4 Section Gate System (opening is 16.46 meters or 54') $29,855.34 $29,258.24
VG-5000 Vulcan Gate -- 5 Section Gate System (opening is 20.57 meters or 67'-6") $36,202.54 $35,478.49
VG-6000 Vulcan Gate -- 6 Section Gate System (opening is 24.7 meters or 81'-1/2") $40,669.09 $39,855.71

Alpha 70K Truck Mounted Attenuator- Test Level 2 (70km/h)--(continued)

TRANSPO INDUSTRIES, INC.  PRICE LIST
Edition 01/2008

23 


